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VI Semester B.Com. Examination, September/October 2022
(CBCS) (2016 — 17 and Onwards) (Fresh + Repeaters)
COMMERCE
Paper - 6.4 : Management Accounting

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in English
or in Kannada.

SECTION - A
SNPN— D

Answer any five sub-questions. Each sub-question carries 2 marks. (5%x2=10)

CRF TRt 2 WE-T,3R V02, B, WOT-T[,I N 2 LOBNW.

1. a) What do you mean by Management Accounting ?
NBFIED TTIT, 20TTERD ?
b) State any four functions of Management Accounting.
N BT 65;5%@5 CIRYTITITR T2, TIORFRTI, &9
¢) What is common size statement ?
FBREME, Ted HOTTERD ?
d) What is fund flow statement ?
DO WO T, Q0TTe ?
e) Gross profit ratio is 30%, gross profit is ¥ 8,00,000. Calculate the cost of

goods sold.
:d%@ IR e0T3 30%, x.%@ ooy dR. 8,00,000. exen =083 233 F0REBEBOWD.

f) Given current ratio is 3.5, working capital is ¥ 4,00,000. Calculate the amount

of current assets and current liabilities.
239 5TE 3.5, TODFF0 woBmy X 4,00,000 BTN WY SATID TR

2plJ) mmw%amfaf% FOBOELEBCW0.
g) Write any four components of current assets.
¢ ©530D Tow) BOBNRTI) WICWO.

P.T.O.
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Answer any three of the following quest

83 BYNT CIRRTOTTR Fedd T, NN VS OA.

2.

SECTION - B

TP — W
ions. Each question carries 6 marks.(3x3=18)

3,3 q:iﬁ 6 “50BMT0.

Briefly explain the objective of Management Accounting.

ST SFTOTT VT CINTIY Bos N EPA.
Given gross profit  3,20,000, Net profit T 1,92,000, Gross sales Z 16,56,000,
Sales returns ¥ 56,000, Opening stock ¥ 3,60,000 and Closing stock Z 2,80,000.

Calculate :

i) Gross profit ratio
ii) Net profit ratio

iii) Cost of goods sold

iv) Stock turnover ratio.
BR&LENTSY QEBSONT 1 i), T % 3,20,000, Q¥ o3 T 1,92,000, %t
28,0dnwo X 16,56,000, £8,030m¢ wexmed X 56,000, STORT TR 3,60,000

T 90830 ToM X 2,80,000.
SNSRI, SFToS -
i) e, Y RTZ
ii) =Y oY 90T
iii) 8,080t FTBNY I,

iv) TRRRRD wE,0d &ROTE.
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4. Calculate trend percentages from the following figures of Ramya Enterprises

taking 2018 - 19 as base.

#aiil

w1 ABAT

2018 - 19 2019-20 2020-21 2021-22
4 L4 L4 ¢

Net sales 4,00,000 3,60,000 480,000 6,00,000
Less : Cost of goods sold 2,40,000 2,40,000 2,80,000 3,20,000
Gross profit 1,60,000 1,20,000 2,00,000 2,80,000
Less : Operating expenses 40,000 40,000 60,000 80,000
Net operating profit 1,20,000 80,000 1,40,000 2,00,000
Less : Income tax 60,000 40,000 70,000 1,00,000
Profit after tax 60,000 40,000 70,000 1,00,000

2018 — 193¢ 'a'b‘aoﬁomq ﬁa.raoda‘ra@ hé.s.z}imom, 3 3R VeRTOT 203 =2o3NY
S0 e TRR, Q0L0'E, IT'E TF ¢ BT, I8 SRE.

2018-19 2019-20 2020-21 2021-22
X i ¢ X

<8, 0nsd 4,00,000 3,60,000 4,80,000 6,00,000
(=) &8 comon Hosond i,  2,40,000 2,40,000 2,80,000  3,20,000
Ao ooy 1,60,000 1,20,000 2,00,000 2,80,000

(-) ocdnrEomsad d&iﬁﬁ) 40,000 40,000 60,000 80,000
aEvmoinricco oy 1,20,000 80,000 1,40,000 2,00,000
(~) So=ns 2ot 60,000 40,000 70,000 1,00,000
3orioh Bozonm ooy 60,000 40,000 70,000 1,00,000
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5. Prepare schedule of changes in working capital.
Particulars 31-3-2021 31-3-2022
? T
Bank overdraft 64,000 -
Creditors 3,20,000 3,60,000
Bills payable 40,000 64,000
Outstanding expenses 12,000 20,000
Stock 1,20,000 2,40,000
Debtors 1,60,000 3,20,000
Bills receivable 40,000 25,000
Cash in hand 25,000 65,000
Cash at bank - 75,000
Prepaid expenses 16,000 24,000
B4 89NT LTONOOT Booddr dee) Lo@mow WETISE Te3 0T, BoAROA.
TTED 31-3-2021 31-3-2022
: 4 L 4
232, 08° Q0eovE 64,000 =
Foricd 3,20,000 3,60,000
TS TooRML 40,000 64,000
2308 OO Segpisd 12,000 20,000
TR 1,20,000 2,40,000
adoednish 1,60,000 3,20,000
268 3 oo 40,000 25,000
Sncd 25,000 65,000
L3, 08O Fckd - 75,000
24,000
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6. From the following you are required to find out cash generated from operation
under indirect method.
31-3-2021 31-3-2022

Particulars
T T
Debtors 2,80,000 2,10,000
Creditors 1,50,000 1,90,000
Stock 1,90,000 2,20,000
Bills receivable 90,000 1,10,000
Bills payable 60,000 20,000
a) The Balance of Profit and Loss Account on 31-3-2021 ¥ 3,50,000 and on
31-3-2022 ¥ 5,90,000.

b) Preliminary expenses written off ¥ 15,000.

c) Depreciation on plant ¥ 42,000.
s B980T LTONOT WDTLINRPT WoT SNTY, FOREILRAWD.

31-3-2021 31-3-2022

Do
3 2
adoE3rieo 2,80,000 2,10,000
FRrE 1,50,000 1,90,000
oD 1,90,000 2,20,000
LOBeEeTs EOBND 90,000 1,10,000
dniens Booanshd 60,000 20,000
a) oot o3y g 2wd oot 31-3-2021 BodR 3,50,000 R0 31-3-2022 To
7 5,90,000.

b) @,0orics S, T 16,000 EACDTEITING.
¢) ooz, nd Seda BIEe T 42,000
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SECTION - C

= L

- ios 14 marks. (3x14=4
Answer any three of the following questions. Each question carme 2)

40BNV,
81 fUNT CRPTTAR TRt I3 ren cuo. T, ::,5%:1 14 40

Ltd. as on
7. Following are the Balance Sheets of Rama Ltd. and Lakshmana

31-3-2022.
Liabilities Rama Ltd. Lakshmana Ltd.
be L4
Equity share capital 4,00,000 10,00,000
10% preference share capital 2,00,000 3,00,000
5% debentures 2,00,000 2,00,000
Reserves and surplus 2,00,000 2,40,000
Provision for taxation 1,00,000 1,40,000
Sundry creditors 5,00,000 8,20,000
Bank overdraft - 1,00,000
16,00,000 28,00,000
Assets
Land and buildings 6,00,000 12,50,000
Plant and machinery 3,60,000 8,40,000
Stock 3,00,000 4,00,000
Sundry debtors 2,00,000 2.70,000
Cash in hand 1,40,000 40,000
16,00,000 28,00,000

You are required to prepare common size Balance Sheet and comment.



oo B0. O T OF 69 30. OQLIE TV OGS TS DT

TORNT, oI, T S Ted oI, B03R0R OB WISFA.

z:a'az:s:épmo

TR, Fedd WoBTY
10% 5,30 e WoBwY
5% ToOTE, N
QoexeL LIl
3on oeRTRd

N

mdoa‘ VTS

SN

BRDERD W) BLWNO
TIT 0 odoo3, N
ADEDRS
933 abednsd

[INTD

o= 80.

¢
4,00,000
2,00,000
2,00,000
2,00,000
1,00,000
5,00,000

16,00,000

6,00,000
3,60,000
3,00,000
2,00,000

1,40,000
16,00,000
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-%31-3-2022 ©

O¥ D E0.
waly

T

10,00,000

3,00,000
2,00,000
2,40,000
1,40,000
8,20,000

1,00,000

28,00,000

12,50,000
8,40,000
4,00,000
2,70,000

40,000
28,00,000
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8. From the following Balance Sheets of MRV Ltd. as on 31-3-2021 and
31-3-2022.
Liabilities  31-3-2021 31-3-2022 Assels 31-3-2021  31-3-2022
2 ? 4 ?
Land and

Equity share

capital 4,00,000 5,00,000 buildings 4,00,000 4,80,000

General Reserve 80,000 1,40,000 Plant and

P&LAC 64,000 78,000 machinery 3,860,000 2,680,000

200,000  2,52,000
1,60,000 1,28,000
1,04,000 18,000

Long term loans 3,20,000 80,000 Stock
Creditors 2,40,000 2,20,000 Debtors

Bills payable 60,000 40,000 Cash at bank
Provision for

taxation 60,000 80,000

12,24,000 11,38,000 12,24,000 11,38,000

Additional information :
a) During the year 31-3-2022, dividend of ¥ 84,000 was paid.

b) Depreciation written off on Plant and machinery X 24,000 and Land and

buildings ¥ 45,000.
c) Assets of another company were purchased for a consideration of ¥ 1,00,000
payable by issue of shares and assets consisted Land and Buildings

Z 60,000 and Stock ¥ 40,000.
d) Income tax paid during the year ¥ 80,000.
You are required to prepare

i) Schedule of changes in working capital.

i) Fund flow statement.
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20.850°.82. FO. DODINIT oS T3, Briv 31-3-2021 303 31-3-2022T0TH B4

880530333,
LETLT NI 31-3-2021 31-3-2022 0 31-3-2021 31-3-2022
4 E4 Z Z

XEJE&DES‘_S Bed A TOTASER S0
20TV 4,00,000 5,00,000 B:3BERW 4,00,000  4,80,000
TR DY 80,000 1,40,000 =TT =T

(.j -
oorg BOX JF 0o¥ 64,000 78,000 0303, 3,60,000 2,60,000

Deors e 3,20,000 80,000 zomoTOTER 2,00,000 2,52,000
ZANTO 2,40,000 2,20,000 93e3n&d 1,60,000 1,28,000
2naieson &olns 60,000 40,000 3,083 s> 1,04,000 18,000

cfelatanlyl
AL 71 Sb) 60,000 80,000

12,24,000 11,38,000 12,24,000 11,38,000
TEFC =& :

a) v FEFT 31-3-20220¢, T 84,000 SOOI TSN,
b) ToT =) cog Y oeds T 24,000 I FAD T2 IUEM oed

G

7 45,0000, FFY0), IR,
o> T 1,00,000 SPO,T SaTvRy, Fedontedy, BRRTTT SR

C) QEROT TOT
5. ReTrBoing SATED, HR> TOEY 3uERe T 60,000 2

i@omme{i@h
(ADLDISVRY 40,000.

d) 33 IRFEQ, 8T 30
23 e B0&S0Z) emdmhwﬁﬁmom
i) 230 2OoBI? WBCORT Te, T2

1 % 80,0000%) BTN,

i) D0 wom DI, FOIROR.
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Sheet.
9. Using the following data prepare Balance " s
Gross profit (20% on sales) € 4,00 000
Share capital 80%

Credit sales to total sales -
k
Stock turnover ratio (Cost of sales/closing stock)

3 times
Total Assets turnover ratio
(Sales/total assets)
18 days
Average collection period
(360 days in a year)
16:1
Current ratio
40%

Long term debt to equity (Total)

: ' jioof2:1.
Current liabilities consist creditors and B.P. in the rati

% o i:ae,gd B0 £503MPOT SR woLRD asésuodaa‘% 20330 INB.

Wil ot (RPoOUT Rec 20%) < 4,80,000

BeTO WoBwY ¥ 4,00,000

2830, TWRTHWBY T [T 80%

ROB) WeoTotdd LITOTO3 8 W),
(™00 Tnookd /908D TORRRY)

2t 530 Whotld BT 3 B,

(BRo9E3 /283, 53)
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JToXO WRRO ©TO 18 HTINY
NS
(SRFT 360 Qney)
w9 BT
1.6:1
2830 9383 WOBTTT e QeTFF RO OO 40%

T TR
) BIPONTS, TN 303 Bewey sdoenw 2: 10 9ROTIBHE, [T

10. F :
0. From the following Balance Sheets of M/s Kruthik Ltd. as on 31-3-2021 and
31-3-2022. Prepare cash flow statement as per AS-3.

Liabilities 2020 - 21 2021 - 22 Assets 2020 - 21 2021 -22
X 3 3 3

Equity share Land and

capital 2,00,000 3,00,000 Buildings 50,000 1,10,000
Share premium - 10,000 Plant and

General reserve 50,000 80,000 Machinery 2,00,000 3,00,000
Profit and Loss A/c 50,000 70,000 Investments 10,000 50,000
8% Debentures 1,00,000 50,000 Stock 80,000 60,000
Provision for Debtors 90,000 80,000
taxation 30,000 40,000 Cash inhand 40,000 30,000
Proposed Cash atbank 30,000 20,000
dividend 20,000 30,000

Sundry creditors 50,000 70,000

5,00,000 6,50,000 5,00,000 6,50,000
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Additional Information :

it being credited
i) Investment costing T 8,000 was sold for ¥ 15,000 the profit being
to Profit and Loss A/c.

-22.
i) An interim dividend of ¥ 26,000 was paid during the year 2021-2

¥ 30,000
iii) Accumulated depreciation on Land and Buildings 2020 =21 Was
and 2021 — 22 was ¥ 40,000.

iv) Treate provision for taxation and proposed dividends as current liabilities

v) Depreciation written off on Land and Buildings ¥ 20,000.
20223 3ABRROB TRFE,

7859 JoDAW3 55038 B, 3 OTwcs 31-3-2021 =3 31-3-
33 3YNT083. AS-3 T5o0 Sricdh Fowy) BT, JCIROA-
BRI 2020 — 212021 —22 AND 2020-21 2021-22
3 3 < S
3383 Bewh wos 2,00,000 3,00,000 R TR
Bedd &,e00300 — 10,000 BB 50,000  1,10,000

mm:% S]] 50,000 80,000 ,T%E:Sd 0B

oy I 2008 50,000 70,000 o308, 2,00,000  3,00,000
8% moTZ,nsd  1,00,000 50,000 ZeBIRWD 10,000 50,000
301t QexTen 30,000 40,000 o= 80,000 60,000
L0 203N 90,000 80,000
QeRF . 20,000 30,000 =nTo 40,000 30,000
DEINTO ~ 50,000 70,000 233,083 Inw> 30,000 20,000

5,00,000 6,50,000 5,00,000 6,50,000
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i) T 8,000 S
) ordaDd BRAINVS), T 15,000 § BR0 RRBIONT, TOGPR,
oot S, 39931 wk> InBoNT.

p itk '

M
v B

It

5|

ii) 0,038 oo
) G, %03 X 26,000ma, T,xg OIY, (2021 —22) TRWIBTONT.
iil) wEORRBRAT X
) LARMPRAT ITFP o> [ Fr@ny 2020 — 2183 30,000 #5523 2021 - 22%
2 40,000. : ’
iv) 3
iv) 307N QT B oy ReRFOD, 1S Sonpipleleveaplg TWOTEIA.
V) GR00 %) SRR e T 20,000 Resge oty oI

11. a) State whether the following transactions results in increase or decrease of

do not effect the working capital.
i) Bills receivable dishonoured X 45,000
i) Plant purchased by the issue of shares ¥ 1,00,000
iii) Sale of temporary investments ¥ 50,000
iv) Issue of shares for cash ¥ 2,00,000

v) Redemption of debentures worth X 1,50,000
vi) Cash paid to creditors % 60,000

vii) Sale of fixed assets worth X 2,50,000

b) Prepare a comparative income statement from the following income

statement and comment.

Particulars 31-3-2021 31-3-2022
(Z '000) (% '000)

Net sales 12,000 11,200
8.400 7,200

Less : Cost of goods sold
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Gross profit
Less : Operating expenses
Operating profit

Less : Non operating expenses

Add : Non-operating income

Net profit

a) 88 FYI SLITOT TN FOFT0 WOT

3,600

1,200

1,000

200

S

4,000

80

880

SITDY B NROWTRE,

BRI T RC 955530 WERTBRRTORORRPE 20T FoTED &S EVA.

i) %ﬁeﬁ@:&ﬁemd o8Ny QoossH T 45,000

ii) TN, DI0A 03003, T TR, 3R0BBRWNT T 1,00,000

@

i) FoEO8 BRENY TR X 50,000

iv) Recone Q8o T 2,00,000
V) MeTE,nE Rocmems T 1,50,000
vi) ganen @Rsss sncd T 60,000

vil) TR A3 BT T 2,50,000
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VI Semester B.Com. Examination, September/October 2022
(2016-17 and Onwards) (CBCS) (F+R)
COMMERCE

Paper - 6.6 : International Auditing and Assurance
Time : 3 Hours Max. Marks : 70
Instruction : Answer should be completely written either in Kannada or
in English.
SECTION - A

Answer any five of the following sub-questions. Each carries two marks.  (5x2=10)
SRHTRCR 5 ma‘i-c—g’gﬁ@ﬁ VB0, B3 YVT- ;j’a;ﬁ 2 ©08NWD.
1. a) What is Audit Documentation ?
ci'@ BoBRPI0 TR DoTTERD 2
b) What is audit framework ?
Q%L_: DoBRFI0N F eI TFF 0TV 7

c) What is audit materiality ?
SREF F30L3eDTNOL OTTERD ?

d) What are the types of Assurance Engagement ?
BRI, DO RS DHN SRR ?

e) Give examples for computer assisted audit techniques.
o, uo° R0 03T SR SEINER LTHHBOTRODI), TRR.

f) State any 2 differences between internal and external audit.
50308 089 md@d TOBRETI0Z OINT)THWOR TR ﬁémﬁﬁeﬁdi 230200.

g) Give the meaning of auditing.
SRUOTTS SHF R, WIWO.

SECTION-B

Answer any three of the following. Each question carries 6 marks. (3x6=18)
odRE)TRE0R 3 @%ﬁ@ﬁ YU30R. B ;gegtﬁ 6 203N

2. Explain the circumstances when written representation can be obtained in
auditing.

SRS O TINGHR, BH0DOE FoTF N, QFOR.
P.T.O0
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3.

Answer any three of the following. Each question carries 14 marks.

Explain the components of internal control system

50308 0D, T T FLIBNVES WKL,
Explain the contents of Engagement letters.
oortees 30083 TSNY UTWONTT LTOA.

- <
State the limitations of External Audit.
RE, I8 TOZRGHOD SENTTD 0T
Explain the components of Audit Risk.
SR HTONT PLIBNTER WO,

o

SECTION - C
(3x14=42)

IR 3 FIeR oA T RO0INT uZTE, 14 LT

¥ 8

10.

11.

Explain the role and structure of audit committee.
SBETF FAOSOD THT, =) dﬁ;ﬁcmeil WO

Explain the purpose, procedure and reliability of written representation in

International Auditing.

NEOSSE

e50TTR, 00 &8, TOBRETHOD DD TRIVGT YVTIET, T ODF T2 )
DT, T S0, QRO

&

ontrol procedures in relation to

Explain the control objectives and C
b) The cash system.

a) Non-current assets
G@éﬁ#ﬁﬁ‘@ﬁﬁiﬁgt 2020008 V00T
a) TR SRODY, b) IncHFTA,
Explain the different types of Assurance Engagement.

BRI, SOTET 0T QG WTNTE, QROR.

d with the audit and review of accounting

nt of small entities.
FIOLIONT 0TIV [0BY

Explain the problems associate
estimates and control environme

ReQ, TLBNG SR 03 DB &
300N, Q0.

0030 TOVCT
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VI Semester B.Com. Examination, September/October 2022
(CBCS -~ F + R — 2016 — 17 and Onwards)
COMMERCE
Paper — 6.6 : Elective Paper — IV : Marketing of Insurance Products

Max. Marks - 70

Time : 3 Hours
Instruction : Answers should be written completely in English or Kannada.

SECTION - A

Answer any five sub-questions. Each question carries 2 marks. (5%2=10)

1. a) Give the meaning of marketing mix.
b) What is internal auditing ?

c) Give the meaning of insurance marketing.

d) Define the term pricing.

e) Give the meaning of White labelling.

f) What is Sales Management ?

g) What is Emergency Communications Plan ?
SECTION -B

Answer any three of the following. Each question carries 6 marks. (3x6=1

Explain importance of consumer protection in Insurance Industry.

2.

3. Discuss the Ecological factors of marketing strategy for insurance products.
4. Explain the bases of segmentation of insurance customers.

5. Explain the purposes of identifying segments in insurance customers.

6. Explain the purposes of sponsorship for Insurance Products.
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Answer any three of the following. Each question carries 14 marks.
¥
8.
9.
10.

1.

33 B$NT CINPTTETR DR UB-TZ,Z N YUB0R. B3 FF 0I0 2 S0BNTTY

SECTION -C
(3x1 4=42)

Explain the procedure of creating a marketing strategy for insurance products,
Briefly explain the market segmentation of insurance customers.

Discuss the value and supply chain analysis of insurance products.

Discuss various types of advertising strategy for insurance products.

Discuss the procedure of managing the customer relationship in Insurance

Industry.
B SRS
= 0>

TR : VIO Forpearen VoD S0 BFBET, L8oTe3ed.

NTN— D

(5x2=10)

BROOTOTT.

1,

“*." ‘

a) TREFLION® 0T, T BHFIZ), VB,
b) €3030% dﬁﬁbz&oezﬁﬁ Q0TTe0 ?

C) DT BREFLONT OTFFBI), VEB.

d) B3¢ N0 TTEI), DWOR.

e) &t SIS BFF WY VB.

f) So2E3 AEIFBE ROWOE ?

g) o2F BoRTT 03RET DOTBERD ?
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VI Semester B.Cor
. M. Examinatj
a0
(CBCS) (2016-17 ang Onwr;‘rj:)p(tl.:l()':::)t. 2022
+
E

Paper — 6.6 — Elective Paper — |V - Banking Te
Time : 3 Hours Chnmogy I g
Instruction : Answer should be writte e
n completely in Engli
SECTION - A e
Answer any five sub-questions. Each sub-question carries two mark
1. a) What is centralized banking ? s

b) Write any two advantages of EFT.
c) Expand MICR and IFSC.
d) What is Network ?
e) Mention any two online payment gateway in India.

f) Give the meaning of Inter-Branch Reconciliation.

g) What is Repo ?

SECTION -B

Answer any three. Each question carries six marks. (6x3=18)

2. Briefly explain the benefits of RTGS.

3. State the Regulatory functions of SEBI.

. Briefly explain the different services of phone banking.

4
benefits of knowledge management in banking.

5. Explain the

atures of banking software.

6. Briefly explain the fe
P.T.
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SECTION - C

Answer any three questions. Each question carries fourteen marks. (14x3=42)
7. Explain in brief opportunities and challenges of centralized banking.
8. Explain the functions of commercial banks.

9. Briefly explain the advantages and disadvantages of internet and mobile
banking.

10. Briefly explain the different types of risks involved in banking and how banks
manage those risks ?

11. What is E-money ? Explain the advantages and disadvantages of E-money.

20
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VI Semester B.Com. Examination, Sept./Oct. 2022
(CBCS) (F+R) (2017-18 and Onwards)

COMMERCE

Paper - 6.5 : Elective Paper — IIl : Performance Management

Time : 3
e . 3 Hours Max. Marks = 70

Instruction : Answer should be written in English or in Kannada.

SECTION - A
QRTIN— D

1. Answer any 5 sub-questions. Each sub-question carries 2 marks : (5%2=10)
O3R)THTBNR 5 ev- @%ﬁ@ﬁ PUBOR. T3 YT~ ;gﬁ 2 2203190
a) What is ‘activity-based-costing’ ?
23030338 &SR0 Fe3ToR, T oTTED ?
b) What do you mean by divisional performance ?

SN F0F TR 0TTesd ?

c) What is flexible budget ?
B 035309 QOTTED ?

d) What is target costing ?
oo ﬁz%daaﬁdaoddem ?

e) How do you calculate debt-equity ratio ?
LIRS~ TORY [OREe Berk B0 GRADNO ?

21
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f) Whatis zero-based budget ?
2~ 355008 SADT,0D owBeRd 9
g) Give the meaning of transfer price.

BB S0 e ORSEHRD Eed
> 808,

SECTION - B

RPN — W
Answer any 3 questions. Each question carries 6 marks : (3x6=18)
cIRRYTTR 3 FIRer evgon. B BIR6 eosnd:
2. Briefly explain importance of ethics in performance appraisal.
@ocbridoé’ BRTITA, F3v30D @a&w@séoﬁa@t RodZzmoh QDWOA.
Differentiate between Traditional Costing and Activity Based Costing (ABC).

OB TOT PO, FF) BL0TE 03 S3TORRE SR RBBYANTI) BVA.
Following are the information provided by X Ltd. Calculate :

a) Labour cost variance
b) Labour rate variance

c) Labour efficiency variance.
Standard hours 20,000 hrs.

Actual hours 25,000 hrs.

Standard wage rate % 15 per hour.
Actual wage rate ¥ 12.5 per hour.

22
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X BomRodn S1 88en RRledodm Heads. tritod SvdorYrva) BoBRBND :

a) b e, 3o
b) B I ok R

c) Fb G F F I oD,
D3roeds Rotdnsd 20,000

SR rotdnd 25,000

Jeeds 8o® 38T 15 S nowdnt
TR 2 33T 12.5 I3 rotdnk.

5. The following information relates to AB Lid.
Selling price per unit — ¥ 50
Variable cost per unit —X 40
Fixed cost — % 1,50,000

Find out :

a) BEP in units and in amount.

b) Find out selling price per

25 2N B&S030 AB Ltd. 7} Re0T.

Soots B3¢ 8 oseREr i — T 50

BN B3, B2 chneReri— X 40

20 dzfgﬂei)— ¥ 1,50,000

@

B0TE%EROW0

a) AR toc - CRRETIVS, 3533 BRYTY,

b) 2,00 Hev RBORS wodaaia’qﬁ,ooo ORI RON 8
R0 aﬁdod:agﬁorzaaoaowo.

6. Briefly explain the steps in target costing.

0 aizs;a:sad BoBRI, DROR.
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unit if BEP is brought down to 4,000 units.
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SECTION - C
ot -4
Answer any 3 questions. Each question carries 14 marks (3x14=42)

CR[TAR I IBROR cugon, TS HBR 14 eodriv
LY ' -
7. Explain the process of performance management information system.
FALFIRNT AIFTE Indd FIPodd I ododmd WETTN LFOA.
8. a) Bnefly explain objectives of environmental accounting.
Toxd c‘ﬁamﬁdd NTEBNII) 39N,
(] bt
b) Brief the advantages and dis-advantages of flexible budget.
WS SDT0DT LRERL 33 SPIBRONI, 392

9. Sai Co. reports the following information for 2 years :

Particulars 31-3-2020 31-3-2021
Sales ¥ 72,90,000 % 81,00,000
Profit ¥ 1,62,000 % 4,05,000
Calculate :

a) PNV ratio

b) Fixed cost

c) Sales to earn a profit of ¥ 27,00,000

d) BEP (in amount)

e) Margin of safety @ a profit of X 6,48,000
f) Profit when sales are ¥ 90,00,000

g) Variable cost for 2 years.
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0 5
To000 BoTACLD 2 DR AT B3 $980R DVTRII VBT :
DT 31-3-2020 ) 31-3-2021
=00k T 72,90,000 Z 81,00,000
(St Z 1,62,000 ¥ 4,05,000
F0BO&RAD :

a) oY TS WORIED

b) A3,

c) T 27,00,000 eognomned 3eTNTOR R0t BRI
d) m=oRd 2o (Br3TI)

e) ooyl 6,48,000 pelapiy Bea3d 203 £90TIV

f) ¥ 90,00,000 S»0oLE, 20808 Y

g) SO IRenen WEwITHE aiziw.
have ¥ 32,000 cash in hand

acturing company, is expecting to
h budget for 3 months April

10. X Ltd. is manuf
g acas

-4-2020 and it requested you t0 prepar

on 1

to June 2020. The following information is supplied to you

Months gales (¥) Purchases () Wages (¥) Expenses )

February 70,000 44,000 6,000 5,000

March 80,000 56,000 9,000 6,000

April 96,000 60,000 9,000 7,000

May 1,00,000 68,000 11,000 9,000
1,20,000 62,000 14,000 9,000

June
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Other informations :
a) Period of credit allowed by supplier is 2 months.
b) 25% of sales are for cash and the period credit allowed to customeris one
month.
c) Delay in payment of wages and expenses is ON€ month.
d) Income tax X 28,000 is to be paid in June 2020

X Ltd. 02 30m030 1-4-2020 Somd §,030Q0 I3 32,000 @& - %R’ 2020
8 SRS 3 $ond Frcb Sxond wgwEs; Joinored 85 SINS S8B0N, VBTN
o

o Sroou @) moanw (@) WOR)  FURE)
PO 70,000 44,000 6,000 5,000
e 80,000 56,000 9,000 6,000
e 96,000 60,000 9,000 7,000
e 1,00,000 68,000 11,000 9,000
wR* 1,20,000 62,000 14,000 9,000
Q3T &SN :

a) TPTYBITTR 2 Sonebdny o Bk Qe@TOZT.
b) Rootic3 25% TR SR W0k S0 B0 1 30nY MOT T VEBNT,

0) 300 %) e TRBI 2038 1 Sorieb
d) T 28,000 e5T0D SOroDR) RF" 2020 B HRBEHE THBIFONT.

The standard cost of a certain product component mixture is as follows :

40% — Material X — 160 per ton

60% — Material Y —% 120 per ton

Standard loss of 10% is expected in production.
Actual cost of materials used is :

90 tons of Material — X —X 168 per ton

160 tons of Material — Y — X 92 per ton

Actual output is 230 tons.
Calculate all material variances.
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VI Semester B.Com. Examination, September/October 2022
(CBCS - F + R-2016 — 17 and Onwards)
COMMERCE
Paper - 6.2 : Principles and Practice of Auditing

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written in either Kannada or English
only.

SECTION - A

Answer any five of the following sub-questions. Each sub-question carries

2 marks. (5%2=10)

1. a) Give the meaning of compensating error.
b) Write any 2 objectives of internal control.
c) Define routine checking.
d) Who is a company auditor ?
e) What is contingent liability ?
f) What is cost audit ?
g) Give the meaning of audit programme.

SECTION -B

Answer any three questions. Each question carries 6 marks. (3x6=18)

2. Give the difference between Accountancy and Auditing.
3. State the important contents of audit note book.

4. Briefly explain the professional ethics of an auditor.

5. State principles of a good internal control system.

6. How do you verify the investments and sundry creditors ?

P.T.O.
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SECTION - C

Answer any three Questions. Each question carries 14 marks. (RER=
7. Explain internal check as regards cash sales.
8. Give the meaning of internal audit. Explain its advantages and disadvantages.
9. How do you vouch the following items -

i) Receipts from debtors

i) Proceeds of the sale of investments

i) Cash purchases.

10. State the advantages of Auditing and Preparation before commencement of
new Audit.

11. Explain the audit Procedure of Insurance Companies.
e

RN — D

FINS CIRJTTH 208 NT-ZIZron evgor. B3odeomd E-BZR 2 wosnw.  (5x2=1

1. Q) J0BRARS 3?%@058@& ?
%) 80B0% 0308, s 2 YOS EBNYR) S9R.
R) BFoOT STRHBOD 39,83, ek,
83) 0T cﬂﬁaa'sazimeqsﬁ Q0TIT 0353 ?
Q) TOPBe0D BRBMOE 053D 9
) dza; dﬁﬁaﬁ@eiraeqsd QOTITER ?
23) dﬁa‘aﬁmzﬁm TOOKF B, 30T BTF 3R,

QPN — W
NS clegcenan 3 @’%ﬂ@ﬁ SUZ0R. T 30307 @gﬁ 6 303,
2. c3§aa:o; B eiﬁaaﬂoziraeméob aﬁaaﬁ:sma% PR,
3. dgﬁadraeqﬁﬁorb wwu £3 PRITOS T,5000 taosmfdgt PN,
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VI Semester B.Com. Examination, Sept./Oct. 2022
(2016-17 and Onwards) (CBCS - F + R)
COMMERCE
Elective Paper — IV
Paper - 6.6 : Cost Management

Time : 3 Hours Max. Marks : 70
Instruction : Answers should be written completely either in English or
Kannada.
SECTION - A
N - D

1. Answer any five sub-questions from the following. Each sub-question carries
2 marks. (5%x2=10)

3ONS CIRRYTTTR DR GVT-T,FRER LvI0R. T3 T-T)B T 2 HOETD.
a) What is standard costing ?
a%ﬁ%mm; 0TV ?
b) What is margin of safety ?
gead @ Q0TTVEI0 ?
c) State the benefits of ABC costing.
2Be0TLIE S0 B, TONT &5RBROINT), S9A.
d) Give the meaning of fixed cost with an example.
2,00 SVTIBTFE03R0ON x&d dzsud tﬂqa“r'dabq ed.
e) What is a sales budget ?
ST €90TIVD T3, Q0TBER 7

f) Aproduct‘y’ requires 25 units of standard material at the rate of ¥ 5 per unit.
The actual consumption of material for the manufacture of product Y’ is 20
units at the rate of Z 4 per unit. Calculate material cost variance.

2,000 TEGHF ‘Y 0, YU DR A, BT 25 030R TN, Ty RN
Z 5 803 temonts. 'y’ ToGF BRI 0T DI TR QBN 3IR8R0B RN, 20
030eRE* T, 0N T 4003, TN 503, TSRS OIR) BOOBRAD.

g) State two differences between cost reduction and cost control.
303, 808 303 1, DT, £903 WO B, Z,ANIEY, IR
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SECTION — B
Qg - W
: i marks. (3x6=1g
Answer any three of the following. Each question é:;;rales 6 )
IRYTELR e TFnert czos. B3 BFT 6 oI

2. What is P/V ratio ? Explain its uses.
oL T3, BT TR ? [WS WHFOD, WSOA-

imated cost.
3. State any six differences between standard cost and estim

A.
b3 s5e3, T3y es0mom0 By CIRERTER T FIYIER, 3

4. From the following data calculate the amount of variable cost :

Break-even point - 60,000
Profit - 3,000
Fixed cost - 12,000
B3 FPFOB DRTNYOT BN aﬁziﬁabq FORIROND :
maée WO - 60,000
optA) - ¥3,000
Ré)d dzi - 12,000

5. Using the following information calculate

i) Labour cost variance

ii) Labour rate variance

iif) Labour efficiency variance

Standard hours per unit — 15

Standard wage rate per hour — ¥ 4

Actual production — 1000 units

Actual hours — 15300 hours

Actual wage rate — ¥ 3.50 per hour

B3 FYNT &S00 0T
i) B0 a?zi Qsa'asﬁ

ii) 3,3 =8 B39,3

i) 3,80 ?JDSOZ%FCS %mﬁﬂ#&g{ FOROLROND.

T8 a?wiﬁ% 15 éa% noednsd

baiﬁ.raé o0 &,8 rodnt T 4

DRI em:sacpé — 1000 Pe3snsd

@RS noedrisb — 15300 roednisd

o 8RO BT - T 3.50 2,00 Roednt
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6. Prepare a flexible budget for ‘ '
: production 7500 units at (759 i
basis of following information. WA

Production at 10% capacity 1000 units

Raw material ¥ 60 per unit

Direct labour ¥ 50 per unit

Direct expenses ¥ 20 per unit

Factory expenses ¥ 60,000 (30% fixed)

Administrative expenses 2 40,000 (50% variable)

81 8UNT DTTNPom 7500 0oneI e (Sesmo 75) .00 W0 5030e3, 030 Tedodamd
levirte) T i -
wag_}da! 5,383 100 xoadgy, @, 10000300063 1ie0

TN, N dzg', &,3 oeeFrrt T 60

JeT 89 T3 o i T 50

26T DDF ML T8 0Lt T 20

Fosoor s DF e T 60,000 (30% xéd)

GBS DWOFNYd T 40,000 (50% 230)

SECTION -C
TN - A

Answer any three of the following. Each question carries 14 marks. (14x3=42)
OIRR)TTTLR ST a.‘_@!iﬁ#ﬁ eVBOR. T/, T3 i 14 08150,

7. Calculate Break-even point in each of the following independent situations.
i) Fixed cost ¥ 10,000, P/V ratio 50%
ii) Fixed cost ¥ 15,000, contribution X 3 per unit
iii) Margin of safety 20%
iv) Fixed cost ¥ 9,000, variable cost to sales ratio 60%

v) Actual sales ¥ 50,000, margin of safety 30%
vi) Profit ¥ 30,000, margin of safety 20%, variable cost is 70% of sales.

vii) Margin of safety ¥ 70,000, actual sales ¥ 4,00,000
viii) Actual sales 10000 units, margin of safety 2500 units.
& FINT T,8030000 FoTYFER, WY WOTIBIY FoBOLBOWD. VWM
$8030333. -
i) A0 44 ¥ 10,000, ooyl Rnool BOBwe 50%

ii) x40 #44,¥ 15,000, gt (contribution) T 3 20T 03RRI T
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i) ges0 Q08 (Margin of safety) 20%
iv) A0 3 T 9,000, wddenny:s (variable) &St
V) TTT ook T 50,000, dead w08 30%
> P » " ‘ O:J
vi) ©otd T 30,000, B> 208 20%, e &y, 5P
vii) g0 208 ? 70,000, Soxs Snooes X 4,00,000 "
g : 153 2500 CIRILITI.
viii) SIS Fooks 10000 ceRL D, G D03

4 ARoVT BoeOF RT3 60%
']

8303 a’g(’d 70%

at Ltd., are as follows -
8. The budgeted overhead and cost driver volumes of Venk

Cost pool Budgeted Cost driver BU:OQ‘E::
overhead (%) irs i
Material procurement 4,05,000 No. of orde . s
Machine set up 3,59,000 No. of setup oure o
Maintenance 2,40,000 Mainte'nance 'OUS o
Quality control 1,40,000 No. of mspegtlon e
Machinery 4,80,000 No. of machine hours 00

The company has produced a batch of 2500 components of ‘Af ltitmgzg E:)lfciaisg
was ¥ 1,10,000 and labour cost was % 1,90,000. The usage of a
batch are as follows :

Material order — 21, setups of machine — 19, maintenance hours — 510, no. of
inspections 26, machine hours — 1300.

Calculate cost driver rates that are used for computing appropriate amount of
overhead to this batch and ascertain the cost of the batch of the components
using activity based costing.

FogeF OdeiEs #oﬂ@oja IOTIRRO BRBRNTIRN =oeer &3;3 =03) dzi WOOT JOINM
B3 980083

3 oz B INART g oy DOWIW IRTT

et 3 ) JOR
TN 206D 4,05,000  endon Ros3, 900
oD0Z mTS 3,59,000  mzny Roa 450
QF SmdOE 2,40,000 I Rotriedy 3000
rorases Seor o 1,40,000 QeFFNe Rosg, 700
oo righ 4,80,000 odoZneg Xoad, rlotdnsd 24000

BOTROID 2,083 CBHODY, worh @ 2500

BoBRNY, ‘A’ Bgr Bodnond, Bad
TN d>r T 1,10,000 R 80O aeddr 2 ) :

1,90,000. wadairaen:s%agj 23830
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10.

BIC &SN : P
a) g Fe0ds Q0> Jon T GHR DEPTS s nedoond.
b) Be. 25 SR ok TF) 112,BHOT 2O JorH @ 5030 NTTO SON.
C) 8R® DB .00 Sore L9033 @B W =Y

d) ssmocd 3018 T 25,000 west 20210 Snaodd 0

¢ 503
<3KeONTS.

f labour
ly wage rates O
thie WSk ks are as follows :

; : : sition and _
The information regarding compo pleted in 60 wee

force engaged on a job scheduled to be com
Actual
Types of Standard e Weekly wage
Labour No. of Weekly wage i(el's rate per hour (?)

workers rate per hour X) Wwor 20

Skilled 75 60 70 i

Semi Skilled 45 40 30 pie

Unskilled 60 30 80

The work completed in 62 weeks.

Calculate :

a) Labour cost variance
b) Labour rate variance
c) Labour efficiency variance

d) Labour mix variance
60 S0NYE) @OA0IVE 208D FORT o0E BRD QRINE B3 FYFoT0S:I

G rho RIS
FATr o] BrOnY dosd OB IAO B BAORY Hosd TS BRI Eaft
not3n (%) notdn (%)

ﬂéegsd FOFT 75 60 70 70

98- a’aéegsd FOEF T 45 40 30 50
a’ade)ddaoé FOCF T 60 30 80 20
0T 62 woONYA 0T oDRPORD.

FoLROND :

a) ToF T dzi BB

b) ®0F8 &8 FeR

€) B0F 8 TF3 FIA
d) BFT Q0D TR,
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11. A) Preparea flexible by
N~ ?r?et for overhead expenses on the basis of the following
€ overhead rates at 70%, 80% and 90% capacity.

Particulars
Variable overheag At 80% capacity (%)

Indirect labour

Stores Including spares 1??)22
Semi-variable overheads |
Power (30% fixed) 20,000
| Repairs and maintenance (60% fixed) 2,-000
Fixed overheads
Depreciation 11,000
Insurance 3,000
Salaries 10,000
Total overheads 62,000

Estimated Direct Labour hours 1,24,000 hrs.

B) From the following particulars calculate :
i) Material cost variance
ii) Material price variance
iii) Material usage variance

Quantity of material purchased 12000 units
Value of material purchased X 36,000

Standard quantity of material :

Required material standard per unit of finished output 12 units

Standard price of material ¥ 10 per unit.

Closing stock of material 5000 units

Finished output during the year 320 units.
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VI Semester B.Com. Examination, September/October 2022
(CBCS) (2016-17 and Onwards) (F+R)
COMMERCE
Paper - 6.5 : Information Technology and Audit

(Elective Paper - Ill)

Max. Marks : 70

Time : 3 Hours
Instruction : Answer should be written in English only.

SECTION - A
1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

a) What do you mean by Audit Working Papers ?

b) Whatis a Voucher ?
c) What is statutory audit ?
d) Give the meaning of safeguard data.

e) What is Bills Receivable ?

f) What are Audit Notes ?
g) Give the meaning of Automated Backup and Recovery.

SECTION - B
(3x6=18)

Answer any three questions. Each question carries six marks.

s in the Cash Book.

2. Write the steps to check payments and receipt

3. Write a note on Tax Audit.

Briefly explain the different stock valuation methods.

What are the merits of Accounting Software ?

Explain the features of tally ERP 9.
P.T.0.
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SECTION - C

Answer any three questions. Each question carries fourteen marks. (3x14=42)
7. How to Configure Balance Sheet using Accounting software ?
8. Explain the different types of groups in Tally.
9. Briefly explain the creation and maintenance of the Audit Program.

10. Briefly explain the Provision to mark Vouchers for Clarification/Verification.

11. What are the advantages and limitations of recording audit remarks and notes ?
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VI Semester B.Com. Examination, September/October 2022
(CBCS) (F + R) (2017 — 18 and Onwards)
COMMERCE
Paper — 6.5 : Business Taxation (Elective Paper — 1})

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written either in English or in
Kannada.

SECTION - A

Answer any 5 sub-questions. Each sub-question carries 2 marks. (5%2=10)

a) What is customs area ?
b) Who are the working partners ?
c) What do you mean by TDS ?
d) What is digital signature certificate ?
e) What is a non-resident company ?
f) Expand CBEC and PAN.
g) What is Block of Assets ?
SECTION -B

Answer any 3 of the following. Each question carries 6 marks.

2 What are the methods of valuation under customs ?
3. ABC Ltd. imported goods from USA which is valued in Indian currency amounting

to ¥ 8,40,250.
Compute the customs duty from the following :
BCD - @ 10%, social welfare cess @ 10%, IGST @ 18%.

(3x6="

on the business. The firm'

4. X, Y and Z are partners sharing profits equally carrying
¥ 12,00,000. The partne

net profit before partners salary and commission is par
salary is X - ¥ 1,80,000, Y - ¥1,30,000and Z-X 1 190,000 and Commission

¥ 60,000, ¥ 80,000 and ¥ 1,00,000 respectively. Calculate a
remuneration.
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transactions,

h
5. From the following details of Income compute TDS for €8¢

1) Real Estate Brokerage ¥ 50,000.
2) Rent of Building paid ¥ 5,60,000 p.a.
3) Winning from lottery ¥ 1,00,000.
4) Interest on Post Office Deposits T 2,500.
5) Agricultural land sale for ¥ 40,00,000.
6) Mr. Sanju agent of LIC earned a Commission T 10,000.
v. of Z 20,00,000 on

6. Adarsh Ltd. had a Plant and Machinery having & W.D.V
1-4-2020. During the year an additiong Machinery costing ¥ 12,00,000 was
purchased on 31-8-2020. On 31-10-2020, fire had broken In th'z gremlses
destroying a considerable part of the P and M. insurance Co. pal acf’nfges
¥ 11,50,000. Calculate the amount of depreciation chargeable to P andL Alc
for the year ended 31-3-21. Plant and Machinery 1S used In manufacturing
industry. Rate of depreciation 15%. [Under existing Tax regime and alternative

tax regime].

SECTION-C
Answer any three of the following. Each question carries 14 marks. (3x14=42)

7. M/s Raju Industry has imported a machine from Japan at an FOB cost of
1,80,000 Yen. The other expenses incurred are as follows :
1) Freight from Japan to Indian Port, 18,000 Yen.
2) Insurance paid to Insurer in India ¥ 10,000.
3) Design charges paid to consultancy firm in Japan 20,000 Yen.
4) Transportation cost from Indian Port to the factory ¥ 20,000.
5) Company spent ¥ 40,000 in India for development work connected with the machine.
6) The Commission payable to the agent in India was 5% of FOB price.
7) Exchange rate as per Central Govt. is 1 Yen = % 0.62. However exchange
rate prevailing in the market was 1 Yen =X 0.60.

8) BCD is 15%.
9) Social welfare cess @ 10% on BCD.
10) IGST 18%.
Calculate assessable value of machine and total customs duty payable.

8. Sathish, Sharma and Santhosh are equal partners in a firm. Santhosh is a
non-working partner. The following is their Profit and Loss A/c for the year

ended 31-3-2021.

Salary to Staff 35,000  Gross Profit 4,10,000
Salary to Partners . Rent from Building letout 15,000
Sathish 70,000 Interest on Bank deposits 5,000

Sharma 60,000
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Interest on Capital @ 20%

Sathish 30,000
Sharma 18,000
Santhosh 8,000
GST paid 4,000
Income Tax paid 6,000

Donation to charitable
institution (approved) 3,000
Depreciation 8,000
General Expenses 12,000
Advertisement 15,000
Net Profit 1,61,000
4,30,000

Other Information :

UG - 270

4,30,000

a) According to Income Tax, depreciation allowable amounted to ¥ 12,000.

b) Gen

Compute the total income of firm for the Assessm
The following are the estimated incomes of Mr. Pramod for the Assessment Year

2021 - 22.

1) Taxable Income from Salary X 8,00,000.

eral Expenses include ¥ 9,000 being not deductable U/S 36 and 37.

ent Year 2021 — 22.

2) Taxable Income from house property ¥ 1,80,000.
3) Taxable Income from business ¥ 6,00,000.

4) Taxable LTCG ¥ 3,00,000.

5) Income from Interest on Govt. securities ¥ 90,000

6) Winning from Lottery (gross) ¥ 70,000

Compute the amount of various installments of advance tax payments.

10.

The following particulars are provided by ABC Co. Ltd.

Trading and P & L A/c for the year ended 31-3-2021

Purchases 2,00,000 Sales 19,19,000
Entertainment Exp. 18,000 Amt. withdrawn from
Travelling Expenses 20,000 General Reserve 1,60,000
Depreciation 2,50,000 LTCG 60,000
Income Tax 1,60,000 Transfer fees 2,000
O/S Sales Tax 18,000 Profit on Sale of Motor Car 15,000
Provision for unascertained Interest on tax free Govt.

Securities 10,000

liability 25,000
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11.

80,000

Proposed dividend
10,000

Tax consultation fees
Provision for loss of

Subsidiary Co 28,000
Salaries 1.00,000
Sundry Expenses 75,000
Net Profit 11,82,000 21,66,001
21,66,000
Additional Information : i
1) Value of Plant and Machinery as on 1-4-2020 was ¥ 28,00,000 and Buildings
¥ 5,00,000 harged t
2) Excise duty of 2019 - 20 paid during the year 7 35,000 was not charged to
PandL Alc.
cash.

date of filling the returns.

3) Sundry Expenses include an item of ¥ 20,000 paid in
,000 for IT purposes

4) Out of the O/S sales tax ¥ 12,000 was paid before due

5) Unabsorbed business loss brought forward is ¥ 3,00

and ¥ 2,50,000 for accounting purposes. '
6) Unabsorbed depreciation b/f is ¥ 1,60,000 for accounting purposes.

Compute :
i) Book Profits U/S 115JB.

ii) Tax under minimum alternative tax.
M Ltd. is a company. It showed a net profit of ¥ 8,50,000 during 2020 —21. Scrutiny
of the accounts revealed the following

Debits to P and L A/c :
a) Donations paid to approved public charitable trust 15,000.

b) Provision for Income Tax ¥ 90,000.

c) RBDD ¥ 20,000.
d) Proposed dividend ¥ 1,50,000.

Credits to P and L Alc :
a) Bad Debts allowed earlier recovered during the previous year ¥ 18,000.

b) Interest on Bank Deposits T 40,000.

c) LTCG Z 1,50,000.
d) Dividend from Indian company ¥ 15,000 (gross).
There was a) unabsorbed depreciation ¥ 50,000 and b) unabsorbed loss

¥ 45,000 brought forward from the earlier Assessment Year.
Compute Total Income and tax liability of the company for the Assessment Year

2021 - 22.
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VI Semester B.Com. Examination, September/October 2022
(CBCS) (Freshers + Repeaters — 2017-18 and Onwards)
COMMERCE
Accounting and Finance
6.5 : Elective Paper — Il - Performance Management

Time : 3 Hours Max. Marks - 70

Instruction : Answer should be written in English or in Kannada

SECTION - A

1. Answer any 5 questions. Each question carries 2 marks. (5%2=10)

a) Whatis Life Cycle Costing ?

b) What is Margin of safety ?

c) What is Budgeting ?

d) What do you mean by Debt Equity Ratio ?

e) What is Management Report ?
f) What do you mean by Performance Appraisal ?

g) State any four sources of Management information.

SECTION - B

Answer any 3 questions. Each question carries 6 marks. (3x6=18)

2. Differentiate between Traditional Costing and Activity Based Costing.

3. From the following information calculate.
a) Profit volume ratio

b) Fixed costs
c) Sales volume to earn a profit of ¥ 40,000

Sales T 1,00,000
Profit T 10,000
Variable cost 70%.

P.T(
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i oduct X is 10 k
4. The standard quantity required to manufacture one unit of pr . i recordi
and the standard price per kg of material is 5/-. The cost a(;COO e
however reveals that 11500 kgs of material COS 76,

manufacture 1000 units of product X. Calculate M
0% (8000 units ) ON the basis

ting ¥ 2,
GV, MPV and MUV.

Prepare a Flexible budget for the production at 8
of the following information :

Production at 50 % capacity 5000 units
Raw materials ¥ 80 per unit
Direct labour T 50 per unit
Direct expenses T 20 per unit
Factory expenses ¥ 50,000 (50% fixed)
Administration expenses T 30,000 (40% variable).
From the following information calculate cost driver rates :
a) Volume related cost ¥ 1,10,000
b) Purchase related cost X 1,20,000
c) Set-up related cost X 2,10,000
d) Relating to handling of orders T 45,000
e) Shipment charges X 50,000
f) Relating to quality inspection ¥ 1,40,000
Cost allocation basis are :
i) No. of Machine hour 22000

i) No. of Purchase orders 1200

iii) No. of setups 50,000
iv) No. of times materials handled 900

v) No. of times quality inspected 700
vi) No. of shipments 250.
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00 00
SECTION - C
Answer any 3 questions Each question carries 14 marks. (3x14=42)
7. Explain the process of Performance Management Information System.
8 Price structure of a company is given below :
Material 260
Labour T 20
Variable Overhead Z 20
Fixed cost % 50
Profit T 50
% 200

Selling price per unit
The above data is based on manufacturin
competition, the company wants to reduce t
the same amount of profit, how many cycles

the same amount of profit :
a) If selling price is reduced by 10%

b) If selling price is reduced by 20%.

ected to have cash in hand on 01-04-2021 and it requires
ash budget for 3 months April to June 2021. The following

g of 1,00,000 cycles. Due to stift
he selling price but wants to keep
the company should sell, to get

9. A company is exp
you to prepare a C

information is supplied to you.
Manufacturing Expenses

Months Sales Purchases Wages
February 70,000 40,000 8,000 6,000
March 80,000 50,000 8,000 7,000
April 92,000 52,000 9,000 7,000
May 10,000 60,000 10,000 8,000
June 1,20,000 55,000 12,000 9,000

Other information :

1) Period of credit allowed by supplier is

2) 25 % of sales is for cash and period of
sales is 1 month.
3) Delay in payment of wages and expenses one month.

4) Income Tax of ¥ 25,000 is to be paid in June 2021.
5) Opening balance on 1* April is ¥ 25,000.

2 months.
credit allowed to customer for credi
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10. The standard cost of a certain chemical mixture

11.

40% Material A at T 400 per ton
60% Material B at ¥ 600 per ton _
aterial used is -

: - | cost of m
A Standard loss of 10% is expected in production- Actua
90 tons of Material A at a cost of T 360 per ton

110 tons of Material B at a cost of ¥ 680 per ton

Actual output is 182 tons
Calculate MCV, MPV, MUV, MMV and MYV.

A manufacturing company has the production capacity of 20000 units p.a. The
units for a period are furnished below

expenses for production of 10000 (50%)

Particulars Per unit ()
Materials 40
Wages 20
Manufacturing expenses (40% fixed) 10
Administration expenses (All fixed) 5
Selling and Distribution expenses (60% fixed) 9
Total cost 80
Profit 20
Selling price 100

Prepare a Flexible budget for 60%,70% and 90% levels of activity. It is expected
that the present unit selling price will remain constant up to 60% activity beyond

which a 5% deduction is contemplated up to 90% activity level.
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VI Semester B.Com. Examination, September/October 2022
(2016-17 and Onwards) (CBCS) (F+R)
COMMERCE
Paper — 6.6 : International Auditing and Assurance

Tlme '3 HOUT‘S Max. Marks ‘ 70

Instruction : Answer should be completely written either in Kannada or
in English.

SECTION - A
Answer any five of the following sub-questions. Each carries two marks. (5%2=10)
CIRYHT3R 5 maﬁ—?jgﬁ@ﬁ YUZON. I3 emﬁ-aj,ziﬁ 2 208NR0.

1. a) What is Audit Documentation ?
cﬁg} TOBRFI0L TRTewd DoT3eR ?

b) What is audit framework ?
c%; TOBRTIOD FeRT* [T F 0TI 9

c) What is audit materiality ?
SR Foe3ed0INOL oT3Be ?

d) What are the types of Assurance Engagement ?
eeﬂ;%da: DOTTETTTTO0ETF S VRN BN ?

e) Give examples for computer assisted audit techniques.
BOTR,EI0° R0 T SREF FoFNIN YUTBOFEODTY, 3RE.

f) State any 2 differences between internal and external audit.
&0308 =0 mdg ToBReFI0% 0INFYTHTTR TR a’%@ﬁﬁ#@t WBOWD.

g) Give the meaning of auditing.
SRS ezﬁra’s&l WB00.

SECTION -B

Answer any three of the following. Each question carries 6 marks. (3x6=18)

caRFYRTTR 3 IR gdr. B3 JIr 6 wosnish.
2. Explain the circumstances when written representation can be obtained in

auditing.
SRE'S 0D MIVFTT TECDOT Fomr NV, JTOR.
P.T.0.
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3. Explain the components of internal control system.
5030 OO £ W IJHOD PRBATE WBOA.
I
4. Explain the contents of Engagement letters.

LOTIERTT OO TFNY DTWODNTTO QWO

5. State the limitations of External Audit.
WP, o’§ DOBRETICL &)oéri%fQ DO,
6. Explain the components of Audit Risk.
SRET° 9T ODT fwwéﬁ@@ DTOR.
SECTION -C

Answer any three of the following. Each question carries 14 marks. (3x14=42)

CERPTRTTR 3 BIROR 0Z0a. B3 FOCINT KuBTE 14 ©oFN.

7. Explain the role and structure of audit committee.
SR RSO T, 0B TLWFODIY D=OA.
8. Explain the purpose, procedure and reliability of written representation in

International Auditing.
L20BDTOS, L0 c?§ ToBReFI0D ODB T EIFT VT¢I, T ORF DT WIR

&)
DT, TOBF O QWO
9. Explain the control objectives and control procedures in relation to :

a) Non-current assets b) The cash system.
33 SINSHNTR), RO2IORPTIOT VOIOT,ED YVTIEBNED T3 FOOIF DTOBNYTY, QWO :

a) BRSO, b) 3> I,

10. Explain the different types of Assurance Engagement.
BRIV, DORETTROLF T DG VTNV, QRO

Explain the problems associated with the audit and review of accounting

estimates and control environment of small entities.
~£@ PLIBAG SR 0B DRJFO BFIOLIOTT LSOTIRI W03 AOIOZER ZOROB

3.@06367{%3?&) SIDOA.

11.
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VI Semester B.Com. Examination, Sept./Oct. 2022
(CBCS ~ F+R - 2016-17 and Onwards)
COMMERCE
Paper - 6.1 : Business Regulations

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in Kannada
or in English.

SECTION - A
NI — &

I. Answer any five questions. Each question carries 2 marks : (5%x2=10)
IRPYTRTER D a';zamﬁ eUZOR. T303R0TH aggodm QT BN, Aolelalevs iak

1) a) Mention any two sources of business law.
.—.gmos FORRVT CINTTTTR TR m@m@t ReIoIALY

b) Give the meaning of ‘Contract’.
‘80T’ TT ecﬁrd&q Qed.
c) What is ‘warranty’ ?
‘B0’ 0T ?
d) Expand TRIPS and FEMA.
TRIPS &3 FEMA & Q501
e) Write any four rights of consumer.
MREES CIREYTITITR T, BEYNTRY, LSO,

f) What is global warming ?

22NST SOTZRE 0B ?
g) Whatis fraud ?
033 0TBE ?
SECTION - B

AT EY )

II. Answer any three questions. Each question carries six marks : (3x6=18)
ctRRYRTdn et BBAvR tugdn. 3odomd FPokw et LoBnv) BRoOIIA :

2) Briefly explain the objectives of Environment Protection Act.
TS Booers Tood)ob wcgedﬂdaigt:dog_gmn DION.
P.T.0.
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3) Write a note on Competition Commission of India.
aoletNevelrianly esadnent torf e3rd WG oD,

4) What are the classification of contract 7
t-.»a-iOdd HFNHL AN ?

5) State any 6 objectives of COPRA.
o8 K008 Toadok cIRRYTETR L) LUTBRYE), J7A.

6) Distinguish between condition and warranty.
RO I 2000 FRODT FIDEATS) 3R

SECTION -C
TN — A

Il. Answer any three questions. Each question carries fourteen marks : (3x14=42)
CIRITRTEER TR FIEr ev30or. F30dRoTD YOI TRTI, e08RTR) BROOTUZT:
7) What is a patent ? Explain in detail the procedure for obtaining patent in our

country.
ﬁaid) Q0T ? daﬂ%deﬁd@mﬁoﬁm Gl fovovrn] &)qmaﬂdaigt QO WBOWD.

8) Explain the essentials of valid contract.
RS LT TIOD e203RY, AL
9) Whatis environmental pollution ? Explain the various types of environmental

pollution.
TORT SO, Q0T8> 7 DI wried TORS BROFTIY QIO

10) Who is an unpaid seller ? Explain rights of unpaid seller.
TRREROBT BR02MT 0INTY ? THRERVBE BRTLNOT TRNIR, QIOR.
11) Define “‘consumer” and explain the rights of a consumer under Consumer
Protection Act, 1986.
@80 Rodgrm B03), 19863 &63,0b “TREE" 3,3, 5, TR TRTFI
BEYI) DO

48



(i
LR UG -273

VI Semester B.Com. Examination, September/October 2022
(CBCS) (F+R) (2016 — 17 and Onwards)
COMMERCE
6.5 : Risk Management
Elective Paper - 3

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written either in Kannada or English only.

SECTION - A
AN -

1. Answer any 5 of the following. Each question carries 2 marks.
IRRYTRETAR 5 T3 Ner wu3o. B,3TI R 2 o8N, (5x2=10)

a) Give the meaning of hedging.
TROTF STEII 39A.

b) State the difference between currency risk and interest rate risk.
ORI o WRBT BTN RIS [,TANTI), 39R.

c) Distinguish between pure risk and financial risk.
mc;; STROD ROB) BEITRT STORNY SRDT BB)AINTS) A

d) What is peril ?
o030 ORTEI ?

e) Define Derivative.
m%qaagl 39, 833, A

f) What is Interest rate ?
WRTT ROTTE ?

g) What are Swaps ?

0 T 0300 ?
S A~
P.T.O.
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SECTION - B
JRR-

Answer any 3 of the following. Each question carries 6 marks.
IRRTETR 3 TZ R LI, 3,3030030 T, 6 508N, (3x6=18)

2. Explain the objectives of risk management.
LT ASFBROD YUT EINTR) D[OA.
(=] o

3. Who are traders in derivatives ?
nwIZT 30, T20NF0 CIRTO ?

4. List out the characteristics of Swaps.
T, T T OB ndE) TURERG.

- o ~

5. Write a note on Speculative Risk.
PRTIT FHT Wil LT 2B0WD.

6. Discuss about interest rate risk at banks.
W, T NYE, u&épdz:s eSTB3T wj\ W33 A.
SECTION -C
SNPN—2

Answer any 3 of the following. Each question carries 14 marks.
cdRwyTenaR 3 B3 NI LUZDR. 3,303,000 T3 7 14 SOIND. (3x14=42)

rence between pure risk and speculative risk ?

7. What are the diffe
maa:a;ﬁ 5T ONST ATON sﬂsasrsmmq PArniet 8

#o53 oo 3

ntal concepts of options and hedging.

8. Explain the fundame )
1Y SRS TOBOBNT DWOA.

el ST TR

9. Explain risk management process.
72030 DRFBFEOD B,3,030DF, VH0A.
ocesses of corporate risk management.

10. Discuss various pr
NSFREOD NG B,3,030NTR, V[OR.

FOTpFOeL LTI

11. Explain the fundamental concept of VAR.
VAR Q5050 @R0yind mﬁqﬁmm@( DTWON.
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VI Semester B.Com. Examination, September/October 2022
(CBCS Scheme) (F+R) (2016 — 17 and Onwards)
COMMERCE

Paper - 6.6 : Cost Management (Elective Paper — V)

Time : 3 Hours Max. Marks - 70

Instruction :  Answers should be written completely either in English or in

Kannada.
SECTION - A
PR — D
1. Answer any five sub-questions from the following. Each sub-question carries 2 marks.
AdnRRmmte 5 NT-T,J RO V0. T8 Y0e3-35,311 2 0BT (5%2=10)

a) State the benefits of ABC Costing.
WILDTEIT 550 mi aah;cﬁ emmoémmq SN,

b) Calculate P.V.Ratio, if selling price per unit is ¥ 20 and variable cost per
unitis ¥ 15.

W0 WO F,& 03 R T 20 Tarw BSIMIS w0 =, oo X 15,
BN oY) 103, OROTHBTI) FORELACWO.

c) What is value analysis ?
TP, DFLRT 20TTed 2

d) What is variance analysis ?
B,T)X D LRD 0TTERd ?

e) Mention 2 types of material variance.
2 0T TR T TRTJI), QUG DR

f) What is a cash budget ?
IR TRONBES, HOTTED ?

g) Give 2 advantages of Budgetary control.
ROONTTS, D008, £9T3 2 @oiraezzdri%% FAR~Y
SECTION -B
PN — W

Answer any three of the following. Each question carries 6 marks.
FPNT CIRYTETR 3 @e’g’{ﬂ@ﬁ YVB0N. T3 'e:_j)éﬁj 6 ©08n%0 (3x6=18)
2. Briefly explain the limitations of Budgetary control.

WOONRETI, QOI0E, £oT3 ERTWENTI) FOI TN TWOR.
3. Differentiate between cost control and cost reduction.

dzgd Q008 £9 TR éz.gd TRIT IRDT T, T, RBI), a‘_.;)ézseaxa.
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4. From the following information, calculate :

a) Profit volume Ratio

b) Fixed costs
c) Sales required to earn a profit of X 60,000.
Sales ¥ 1,50,000
Profit T 20,000
Variable cost 60%
B FPNT 70880200
a) w03 Mo3, DTS
b) %3 53,
c) ¥ 60,000 ooy DR 553883 Q0D SNoT BRTTSY 0TI BOA0.
vplent X ¥ 1,50,000
oY ¥ 20,000
WS [, 60%
5. The below information is given for labour force to complete a job in 60 weeks.
Workers Standard Actual
No. of workers | Weekly No. of workers | Weekly
wage rate wage rate
per worker per worker
Skilled 175 600 170 700
Semi-skilled 145 400 130 500
Unskilled 160 300 180 200

The work was completed in 64 weeks. Calculate : Labour cost variance, Labour

efficiency variance and labour rate variance.
60 @oTNFE), BORTI), FREFF RATYIO FOOFBON TPNT B0, AEBTINT.

FOFFD % TR
FRONY | HOREROT3 | 3ndne Hosd, | TCRIROT,3
Boad, FoFIIN TFEIN
a’woﬁd TFE 175 600 170 700
ed-s’woﬁd BTOWF T 145 400 130 500
B, T3 TFY 160 300 180 200

$0Ry) 62 TOORYE, FTOLRROAD. 33 IEQOR BItSONOT ToOF S Y, & T, %,
Bo0F 8 BT 39, % Torie FoF S B0 &5,39,% F0rEHBCA0.
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: flexibl i i

6 bpgga(r)? fi |l|c?win Sigrc?rgrf;tfigg p?roductnon of 9000 units @ 90% capacity on the
Production @ 60% capacity 6000 units
Raw materials @ ¥ 125 per unit
Direct labour @ X 75 per unit
Direct expenses @ % 30 per unit
Factory expenses X 60,000 (20% fixed)
Administrative expenses X 80,000 (50% variable)

:sz@iwdﬁ@ocs 9,000 00RJEF N (38w 90) 20T WT L3030 m%ojoaiaq
e.ru:—z%cfﬁ 3,838 60 o AT 6000 OSRE NEL
8239, BOON, N 3¢, 8 cweRerrt X 125
JeT Fo0F T 523,38 cdweRer R X 75
Jes DWOFNH T,8 03w T 30
Foddof & DWFNF I 60,000 (20% ?\é)d)
5393 s T 80,000 (50% 230)
SECTION-C
PR — A
Answer any three of the following. Each question carries 14 marks.

FINS CSRRIIRTH 3 T RYr LB, T@ =318 14 6080 (3x14=42)
7 From the following data, prepare the cash budget for the period April, May and

June 2021 :

Month Sales Purchases Wages Sundry expenses

4 3 k4 k4

February 1,20,000 80,000 10,000 7,000

March 1,30,000 98,000 12,000 9,000

April 70,000 1,00,000 8,000 5,000

May 1,18,000 1,03,000 10,000 10,000

June 85,000 80,000 8,000 6,000

Further information :

h and balance in the next month.

sed in the same mont
provided 2 months credit.
aid in arrears in the following month.

a) Sales 50% reali
b) Suppliers have
c) Wages —20% p
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d) Sundry expenses paid in the same month.
e) Income tax paid ¥ 20,000 in the June.

f) Dividend received T 12,000 in June.
81 VNS L3000 D Swordns,Sm) ok, o, @ Tore zana® 20210 8nodg)

S0ARORD :
Jorned SHRo 00D O 23S TYNW
2 ? 4 T

2, 530 1,20,000 80,000 10,000 7,000
SR E 1,30,000 98,000 12,000 9,000
Dy 70,000  1,00,000 8,000 5,000
e 1,18,000  1,03,000 10,000 10,000
=R 85,000 80,000 8,000 6,000
BUT SRS :
a) Snoous Ie. 50 Icd Tnooks LsTe Joried Tore LT WD S0TiTd

""z:s’cmmad

b) w@dsmdcb QTR one HOT 5330 QeRTLZT.

c) mo 20% waéo:’oab 00O dored ma#éwaad
d) =33 52.3’533 eazde acﬁ#cﬁ TOWSITNT.

e) smood :éoﬁ % 20,000 ma‘ SonY TRWSTOONT.
f) oogRos¥ 12, oooam &R aomfe‘) TBOTLZVT.

The budgeted expenses for the production of 10,000 units in a factory are

8.
furnished below :
Per Unit
T

Materials 70
Labour 25
Variable expenses (Direct) 8
Variable overheads 20
Fixed overheads (¥ 1,00,000) 10
Selling expenses (20% fixed) 15
Distribution expenses (25% fixed) 20
Administration expenses

' 5

(T 50,000 fixed at all levels of production)
170

Prepare a flexible budget for production of 6,000, 8000 and 10,000 units.
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10,000 0PI NV wuE B3R TosF S0 URWTOITUT BuD somnE,
e,

Lot oAl R

L4

ToadoN, s 70

FosF Y 80D 25

Lgooros deo Sty 5

LSS o DWOF 20

l:;;d SHeen DwF (X 1,00,000) 10

S0t SO (20% A0) 15

QITrE IO (25% AT) 20
Sl ikt szJWJ

(X 50,000 2R, ToIT wsgcﬁa’%’ma &édmho") 5

170

20s eobs,ob TIcD 6,000, 8,000 Tonie 10,000 0REFTIY LUBDTEN SCIROA.

9. A Company manufactures two products X and Y, using common facilities. The
following cost data for a month are presented to you :

Product X Product Y
Units produced 10,000 20,000
Direct labour hours p.u. 20 30
Machine hours p.u. 60 15
Set-up of machines 150 500
Orders 180 240
Maintenance hours 250 100
No. of Inspections 50 25
Machine activity expenses ¥ 3,00,000
Set-up related expenses ¥ 30,000
Expenses related to orders ¥ 40,000
Maintenance expenses ¥ 80,000
Quality control expenses ¥ 75,000

Calculate the overhead per unit absorbed using Activity Based Costing
Approach.
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. oy’ FRYRY

AOERT, FPO NI evmadpen FoTRCIROR oo X S Y EeE e
Spery QXOIT.

20T SoNes Sudish S FT0E0II. X —

YVZ2 AT OXRREF e 10,000 20,000

SeT T00FF Mo (T8 odoederr) 20 ?g

008, MoLdried =8 o 60

03003, ¢ TS 150 500

ESTeBRLD 180 240

DSBS RHosIred 250 1

TORes Y Roas, 50 25

0003, e 2363053638 ety ¥ 3,00,000

mgpwdrf ROWORAT D2 med ¥ 30,000

sade3nen JowoHs DML % 40,000

NEFERIDFOT) DR ¥ 80,000

beam&.; NERFODT D % 75,000

10.

‘was as follows :

3,8 0REFT Foeen DWFAFRY, WBe0TE S50 MDF IPOTHIY, Losedeeny
FOROEGBOWD.

The standard mix to produce one unit of product is as follows :
Material X 600 Units @ T 15p.u. = 9,000
Material Y 800 Units @ T 20 p.u. = 16,000
- Material Z 1000 Units @ T 25 p.u. = 25,000
2,400 Units 50,000

During the month of June 10 units were actually produced and consumption

Material X 6400 Units @ ¥ 17.50 p.u. = 1,12,000
Material Y 9500 Units @ ¥ 18.00 p.u. = 1,71,000
Material Z 8700 Units @ X 27.50 p.u. = 2,39,250

24,600 Units 5,22,250
Calculate Material Variances.
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:2 ’ 600 ooz H.JZ‘;Z"” b3 4108, 195 B4 BUNT03TITT.
Y 800 T3 chriarn X <
> oan ) 15 god = 9,000
@y Z 1000 rm’i‘h;nu;, T8 ceiart?20 god = 16,000
OISV o GO Wow et rs .
e ( Ve byt - x
B 2,400 cdaniismys APRT 26 cod = 25,000
TRE QOHVQ’JO oo 50,000
O30 Lenss. “wﬁ"’?"i WX IO uusapx:mo&oab B LBCIRNT TRONY
=% X 6400 )
E SveTots
S0 Y 0 f“"”“b 2,3 chpasrrt 217.50 god = 1,12,000
7 5700 Oilrac:wnw T8 chrutrt¥18.00 52 = 1,71,000
o somww‘ﬂ% T8 chpaurRT27.50 god = 2,39,250
,600 chsaisnw 5,22,250

%] et
R, TR F,I, ARV 8 Toto.

11. The Budgeted
g Overhead and Cost Driver volumes of universal Ltd are as follows:

Cost Pool Budgeted overhead Cost Driver Budgeted Volume
T X
Material Procurement  4,00,000 No. of orders 800
Machine set-up 2,80,000 No. of set-ups 700
Maintenance 1,80,000 Maintenance Hours 2500
Quality control 1,25,000 No. of Inspections 625
Machinery 3,75,000 No. of machine hours 25 000

The company has produced a batch of 2500 components of Z'. It material

cost was Z 2,40,000 and Labour cost was X 3,20,000. The usage of activities
of this batch are as follows :

Material orders 25
Set-up of machines 30
Maintenance hours 500
No. of Inspections 40

2500

Machine hours

Calculate the Cost
amount of overhea
component using the

ed for computing the approprie

Driver rates that are us
rtain the cost of the batch of t

d to this batch and asce
Activity Based Costing.
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VI Semester B.Com. Examination, September/October 2022
(CBCS) (F+R) (2016 — 17 and Onwards)
COMMERCE
Paper - 6.3 : Income Tax -l
Time : 3 Hours Max. Marks : 70

Instruction : Answer should be written completely either in English or in

Kannada.

SECTION - A

1. Answer any five sub-questions, each carries 2 marks. (5%x2=10)

a) Define profession.

b) What do you mean by cash system of accounting ?

c) What is capital asset ?

d) What are tax free Govt. Securities ?

e) State the tax provision U/S 80 DD.

f) Name any 4 incomes chargeable to tax under the head income from other
sources.
g) What is indexed cost of acquisition ?
SECTION - B

Answer any three questions, each carries 6 marks. (3x6=18)

2. Explain the tax provisions for set off and carry forward of the following losses.

a) Unabsorbed loss from house property.
b) Loss from speculation business.

c) Unabsorbed business loss.
P10,
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S o bl
3. Mr.”X" (age 48 years) is a member of Legislative pssel’

: ‘ ~21
followmg particulars of his income for the P/Y 2020 2

a) Salary from Govt. ¥ 60,000 p-m-
n 2 60,000

b) Daily allowance for attending sessio
Z 30,000 p-M-

¢) Rent from house property in Mysore

d) Dividend from co-operative society ¥ 5,800

e) Dividend from domestic company 310,
journals 35,

f) Remuneration from articles published in
e AY 2021 22.

Compute his income from other sources for th

4. State the condition and exemptions u/S 54B for claiming exem

gain (Transfer of Agricultural Land).

5. From the following P & L A/c of Mr. Vignesh for the year

Ascertain his taxable income from business fort

Particulars 4 particulars

To Salary 4,800 By Gross profit

" General expenses 4,650 " Commission

" Reserve for bad debts 3,000 " Sundry receipts

" Ejre insurance premium 2950 " Rent from houses

2550 " Capital gain

Interest on capital

" Donation 3,875
" Depreciation 1,200
" Net profit 1,70,305

1,93,330

The amount of depreciation allowable as per IT Rules ¥ 2,000.

59

he A/Y 2021 — 22.

T

y. He has given the

ption from capital

ended 31 -03-2021.

3
1,35,532
1,205
953
52,640
3,000

1,93,330
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8. From the following incomes ol Dr. Kumar (Resident) tor the P/Y ended 31-03-2021
Compute his GTI for the A7Y 2021 - 22 ' ‘

a) Income from house property (computed) 2 60,000.
b) Directors fees ¥ 20,000.

¢) Winning from lottery (net) ¥ 35,000.

d) Income from profession (computed) X 3,00,000.

e) Dividend from co-operative society ¥ 10,000.

f) Long term capital gain ¥ 60,000.

SECTION -C
Answer any three questions. Each question carries fourteen marks. (3x14=42)

7. Mr. Murthy submits the following particulars of his income for the previous year

ended 31-03-2021.
a) Family pension X 9,000 p.m.
b) Royalty from books written T 45,000 (expenses incurred X 10,000).

c) Income from articles published in ‘Capital’ X 6,000.

d) Helivesina rented house paying a rent of X 6,000 p.m. He has sub let halt

portion of the house for a rent of ¥ 4,500 p.m. He pays the Municipal tax for

the entire house ¥ 5,000.
e) Interest on POSB A/c ¥ 5,000.

f) Dividend from foreign company ¥ 10,000.
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| Aluru T 5,000.
g9) Ground rent for land received in Bengalurt

h) Interest on Central Govt. Securities ¥ 8,000.

. isted.
i) Interest on Deepak Fertilizers ¥ 3,550 (net) li

00 (net) the expensa.
i) During the year he also won a Kerala State lottery ¥ 27,600 (

incurred on purchase of lottery tickets ¥ 6,000.

e ATY 2021 - 22
Compute his taxable income from other sources for th

: ious year 2020 - 5,
8. Mr. Ravi has the following details of his incomes for the previous y 2
A) Being a Lawyer

i) Receipts :
Legal consultation fee ¥ 2,10,000
Gifts from clients ¥ 60,000.

ii) Payments :
Rent of office ¥ 36,000 (V2 portion used for own use)

Electricity and water charges for the office building ¥ 10,000
Salary to staff T 24,000

Stationery and other expenses ¥ 20,000.

B) Income from house property (computed) ¥ 35,000.

C) During the year he had sold 400 equity shares which

were purchased by
him during 2010

= 11 on which incurred a loss of ¥ 7,500.

D) Taxable income from other sources ¥ 30,000,
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E) Mr. Ravi has paid the following amounts
i) LIC premium T 12,000
iiy Purchase of NSC worth T 6,000

i) Donation to a recognised educational institution ? 6,000

iv) Medical insurance premium paid by cash ? 5,000.

Compute his total income and tax liability for the A/Y 2021 —22.

Mr. Swadeshi sold some of his properties during the P/Y 2020 — 21 is an under

a) Jewellery costing Z 2.00,000 was sold for z 3.50,000 in May 2020 which

was acquired in June 2018.
b) Residential house at Mandya which was inherited by him in 1998. Sold

on 31-10-2020 for X 20,00,000, FMV on 01-04-2001 % 9.00,000. Cost of

improvement made during the year 2012 — 13 Z 3,00,000. Expenses on

transfer ¥ 60,000.
c) House hold furniture costing 35,000 in 2012 - 13 was sold in March 2021

for Z 45,000.
s sold for X 85,000

d) WDV of motor car on 01-04-2020 was X 76,000 and wa

on 01-12-2020.
d was compulsorily acquired under |aw for ¥ 10,00,000 on
n 2004 — 05 was 2 5,20,000.

021 -22

e) Self cultivated lan

01-01-2021 and its cost i
ble capital gains for the A/Y 2

Compute his total taxa
3 = 200, 2020 -21= 301

(ch 2000 - 01 = 100, 2004 - 05 = 113, 2012 -1
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S \q 31-03-2021
10. Following is the F* & L A% of M Vikas for the yeal nm'hrq |
. particulars )
:":ju..n n.000 BY Gross proft 13
0 Salary P
" Advertisemen! 1,000 l ”m:;::ﬂ!r}om
* Sundry expenses 4,500 lel company N
Interest on capital 2,000 Indlaf.1 "y
. Wwinnings from lottery 1= -
. (’:T :;u:::::::u::' 3000 ° Interest on securities o
* Income tax 7,000
* Drawings 2,500
* Bad debts 1,000
* Provision for bad debts 500
* Repair for house property 1,000
" Municipal tax of H.P 3,600
* Life insurance premium 6,000
* Donation to political party 1,500
* Depreciation 4,200
* Net profit 2,16,000
2,64,800 2,64,800
Additional Information :

a) Allowable depreciation as per IT Rules ¥ 3,000.

b) Salary includes T 2,000 paid to domestic servant.

c¢) 50% of repair expenses in respect of H.P related to own use.
Compute his taxable income from business for the A/Y 2021 - 22.
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11. Vimal a medical practitioner. Furnishes his receipts and payments A/c for the

P/Y 2020 — 21. Compute his income from protession for the A/Y 2021

Receipts
To bad b/d
Visiting fees

Consultation fees

Sale of Medicines

Salary as a part-time

lecturer in MIMS

Gifts from patients

Interest on post office

saving Bank A/c

Additional Information :

Dividend from domestic Co.

4

40,000

1,00,000

1,00,000

1,35,000

5,23,000

26,000

50,000

40,000

32,000

22.
Payments L4
By Purchase of
professional books 50,000
" Subscription to Indian
Medical Association 8,000
" Household expenses 28,000
" Rent of clinic 24 000
" Income tax 26,000

Purchase of medicine 1,00,000

Car expenses 40,000
Electricity and water 22,000
Salary to staft 56,000
Purchase of surgical
Equipments 40,000
Balance c/d 1,29,000
5,23,000

a) 50% of motor car expenses relates to his personal use.

b) Provide depreciation on surgical equipments and books at 40%.

¢) Gifts include Z 25,000 received from patients on the occasion of his birthda
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VI Semester B.Com. Examination, September/October 2022
(CBCS-F+R-2016-17 and Onwards)
COMMERCE
Paper - 6.2 : Principles and Practice of Auditing

Time : 3 Ho
L Max. Marks : 70

Instruction : An,swers should be written in either Kannada or English
only.

SECTION - A

Answer any five of the following sub-questions. Each sub-question carries

2 marks. (5%x2=10)

1. a) Give the meaning of compensating error.
b) Write any 2 objectives of internal control.
c) Define routine checking.
d) Who is a company auditor ?
e) What is contingent liability ?
f) What is cost audit ?
g) Give the meaning of audit programme.

SECTION - B
Answer any three questions. Each question carries 6 marks. (3x6=1!
2. Give the difference between Accountancy and Auditing.
3. State the important contents of audit note book.
4. Briefly explain the professional ethics of an auditor.
5. State principles of a good internal control system.
6

. How do you verify the investments and sundry creditors ?
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SECTION -C

: 3x14=
Answer any three questions. Each question carries 14 marks. (3x14=42)

7. Explain internal check as regards cash sales.

i ntages.
8. Give the meaning of internal audit. Explain its advantages and disadvantages

9. How do you vouch the following items :
i) Receipts from debtors
if) Proceeds of the sale of investments
iii) Cash purchases.

: ent of
10. State the advantages of Auditing and Preparation before commencement o
new Audit.

11. Explain the audit procedure of Insurance Companies.
RT U3
TN - D

BN cdRYomde e VT-FZNen euZon. FIodeomd su-HB R 2 BoERL.  (5x2=10)

1. Q) JOBTANDS t@bacadem ?
W) S0I0F L0098 2 VB BNV 30N
R) SO0 SToIEOD 9,85, Red.
&) soIR dgwomm Q0T3 AR ?
Q) JoYISec BRWBMOT DOV ?
) :!tiduowoz!mdd Q0TBE ?
2) dgasodmcm BOORFE,TOT VFF 30X,
RN - W

SN R 3 FFre sugor. Baclrorh ZIRE o8, (3x6=18)

2. Sz %) SYROBRLTRCD T I, 0.
3. SYHORRESD LS YIITYR Jos) LoBTIvRy 398,
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VI Semester B.Com. Examination, September/October 2022
(CBCS) (F + R) (2016 — 17 and Onwards)
COMMERCE
Paper — 6.1 : Business Regulations

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely either in
English or in Kannada.

SECTION - A
Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
1. a) Define Contract.
b) Who is an unpaid seller ?
¢) What is Quasi contract ?
d) What do you mean by consumer dispute ?
e) What is Trade Mark ?
f) Expand: )
) TRIPS i 8
ii) FEMA. N e
g) Define the term ‘occupier’.
SECTION-B
(3xb=18)

Answer any three questions. Each question carries six marks.

2. Define Consideration. What are the legal rules regarding consideration unger
the Indian Contract Act, 1872 ?

3. How many modes of discharge of contract are there ? Explain.

PTO
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4. State the objectives of Competition Act, 2002.

5. Explain the types of Patent

- llution.
6. Briefly explain the various types of Environmental PO

SECTION -C
marks. (3x14=42)

Answer any three questions. Each question carries fourteen
7. Enumerate the essential elements ofvalid contract.

8. What are the rights and duties of Bailor and Bailee 7

9. Explain the objectives and functions of CCl.

' infringement of
10. What are the remedies available to the patentee in case of infring
patent rights ?

' i i ol and
11. Explain the role of the central government in the prevention, contr
abatement of the environmental pollution.

TR &S
QPN — D
FINS cIRYEe POT-TIR 40308, 3 uS-TI 0w wosnd.  (5x2=10)
1. a) ﬁcadag WA
b) FormodEens SRootd wordes) 9
c) 3 i?:::;d?i._}i WRYSTYRR.
d) MTT T S 9
8) HBermne'r omEdeRd 9

f) ago&:
i) TRIPS
ii) FEMA.

g ‘eBy TOEI), TP,
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VI Semester B.Com. Examination, September/October 2022
(CBCS) (Fresh + Repeaters) (2017 — 18 and Onwards)
COMMERCE
Accounting and Taxation Group
Elective Paper - lll : Business Taxation

Time : 3 Hou
3 Max. Marks : 70

Instruction : Answer should be written completely in Kannada or in
English.

SECTION - A

Answer any five sub-questions. Each sub-question carries two marks. (5%2=10)

1. a) Who is a working partner ?
b) What is a widely held company ?
c) What is Custom Duty ?
d) Expand PAN and CIF.
e) What is block of assets ?
f) What is a resident firm ?
g) What do you mean by self assessment ?

SECTION-B

Answer any 3 questions. Each question carries six marks. (3x6=18)

2. Explain the objectives of customs duty.

3. What do you mean by limited liability partnership ? State its features.

4. From the following information, compute the assessable value :

a) Value of machine in UK pounds 64,000 FOB

b) Engineering and design charges paid — UK pounds 24,000

c) Freight paid (Air) = UK pounds 12,000

d) Insurance — Not known

e) Commission payable to local

f) The exchange rate announce
UK pound.

agent @ 2% of FOB in Indian Rupees.
d by the Central Government is X 68 per 1
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5. Mr. Hariwanth Ganesh es
Assessment Year 2021 — 22.

L LT

timated the following incomes relevant for the

a) Computed income from House Property Rs. 70,000/-
b) Computed income from business Rs. 4,30,000/-

Calculate advance tax payable.

6. A block of asset consist of 5 machines. The WDV of machinery as on 01 -04—2(?20
is Rs. 1,80,000. Rate of depreciation is 15%. A new machine costing
Rs. 1,60,000 was acquired in May 2020 but actually put to use only on 10-10-2020.
Two old machines are also sold for Rs. 3,20,000 in Dec. 2020.

Compute depreciation on block of assets for the A.Y. 2021 — 22.

SECTION -C

Answer any 3 questions. Each question carries fourteen marks :

(3x14=42)

7. Swathi and Sneha are partners sharing profit and losses equally. The following
is the Profit and Loss Account for the year ending 31-03-2021.

Particulars T
Office expenses 3,00,000
Salary to employees 80,000
Income tax 40,000
Salary to Swathi 2,40,000
Salary to Sneha 2,64,000
Interest on Capital Swathi
@ 15% 15,000
Interest on Capital Sneha
@ 15% 20,000
Net profit 8,76,000
18,35,000

Additional Information :

Particulars E 4
Receipts from clients 10,60,000
Interest recovered from
Swathi and Sneha 5,000
Interest from Govt.
securities 5,70,000

STCG 2,00,000

18,35,000

1) Out of Office Expenses ¥ 25,000 is not deductible by virtue of Section 30

to 37.

2) During the year the firm sells a Capital Asset for ¥ 10,00,000 (Indexed

Cost of Acquisition being ¥ 2,00,000)
Find out the net income and tax liability of the firm for the A.Y. 2021 — 22.

B
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8. M/s H‘ariwanth im'ported a Machine for 20,000 dollars from USA. From the
following information calculate assessable value and customs duty payable.

a) Packing charges 480 dollars.

b) Design and development charges 1200 dollars.

c) Insurance 200 dollars.

d) Freight charges through air 640 dollars.

e) Commission paid to a broker who arranged the transaction 400 dollars.
f) Exchange rate specified by board one dollar = Rs. 70.

g) Basic customs duty 10%.

h) IGST @ 18%.

i) Social Welfare Cess applicable at 10% on BCD.

9. X Ltq., is a company in which public are substantially interested. It showed a Net
Profit of Rs.  15,00,000 during 2020 — 21, scrutiny of the accounts revealed
the following :

Debits of P/L Account :

a) Donation paid to approved Public Charitable Trust Rs. 40,000.
b) Provision for Income Tax ¥ 2,00,000.

c) Family Planning Expenses ¥ 50,000.

d) Capital expenditure on Family Planning ¥ 2,00,000.

Credits to P/L Account :

a) Bad debts allowed earlier recovered during the previous year X 20,000.
b) Interest on Bank Deposits ¥ 60,000.

c) Long Term Capital Gain ¥ 2,00,000.

d) Dividend from Indian company T 40,000 (gross)

There was :
a) Unabsorbed Depreciation X 70,000 and
b) Unabsorbed Capital Loss ¥ 80,000 brought forward from the earlier

Assessment Year.
Compute Total Income and Tax Liability of th
Year 2021 - 22.

e company for the Assessmen

7
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. - 22.
10. The following is the information of Z & Co. for the A.Y. 2021

Particulars Amount Particulars Amount
3 4

To Cost of goods sold 20,00,000 By Sales 28,00,000
" Tax relating to LTCG 6,000 " Long Term Capital
" Depreciation 1,70,000 Gain (Exempt ws 10(38)  3,00,000
" Proposed dividend 2,60,000 " Intereston

" Income Tax 1,20,000 Government Securities 30,000
" Net profit 5,74.000

Total 31,30,000 Total 31,30,000

Additional Information :

i) Depreciation allowable for the year as per Income Tax Act is ¥ 1,00,000.
ii) Brought forwarded Business Loss as per books of accounts is ¥ 2,50,000.
iii) Brought forwarded Unabsorbed Depreciation is ¥ 1,10,000.

Compute :

i) Total Income of the company under normal provisions.
ii) Tax liability of the company.
iii) Tax payable u/s 115 — JB.

11. A person makes an Unauthorized Import of 10,000 pieces of Ophthalmic Rough
Blanks CIF priced at 1 dollar per piece by Air from USA (Tariff heading 53.15.10).
The Consignment is liable to be confiscated Import is adjudicated, Assistant
Commissioner gives to the parties an option to pay fine in lieu of confiscation.
Itis proposed to impose fine equal to 50% of margin of profit. The market price
is ¥ 100 per piece of ophthalmic rough blank. The rate of duties as per basic
customs 10%, SWS as applicable and IGST 18%. Exchange rate is
1 US $ =360, Compute :

a) Amount of fine

b) Total amount payable by party to clear the consignment, what is the
maximum amount of fine that can be imposed in this case ?
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VI Semester B.Com. Examination, September/October 2022
(CBCS) (Freshers + Repeaters — 2017-18 and Onwards)
COMMERCE
Accounting and Finance
6.5 : Elective Paper - lll - Performance Management
Time : 3 Hours Max. Marks : 70
Instruction : Answer should be written in English or in Kannada.

SECTION - A

1. Answer any 5 questions. Each question carries 2 marks. (5x2=10)
a) What is Life Cycle Costing ?
b) What is Margin of safety ?
c) What is Budgeting ?
d) What do you mean by Debt Equity Ratio ?
e) What is Management Report ?
f) What do you mean by Performance Appraisal ?
g) State any four sources of Management information.

SECTION-B
Answer any 3 questions. Each question carries 6 marks. (3x6=18)
2. Differentiate between Traditional Costing and Activity Based Costing.

3. From the following information calculate.
a) Profit volume ratio
b) Fixed costs
c) Sales volume to earn a profit of ¥ 40,000
Sales ¥ 1,00,000
Profit ¥ 10,000
Variable cost 70%.

P.T.O.

73



Iy,

63627 -

4. The standard quantity required to manufacture one unit of produq Xis 10 kg
and the standard price per kg of material is 5/-. The cost accounting recorgg
however reveals that 11500 kgs of material costing % 2,76,000 were used to
manufacture 1000 units of product X. Calculate MCV, MPV and MUV.

Prepare a Flexible budget for the production at 80% (8000 units ) on the basis
of the following information

Production at 50 % capacity 5000 units

Raw materials ¥ 80 per unit

Direct labour % 50 per unit

Direct expenses % 20 per unit

Factory expenses ¥ 50,000 (50% fixed)

Administration expenses ¥ 30,000 (40% variable).

6. From the following information calculate cost driver rates :
a) Volume related cost ¥ 1,10,000
b) Purchase related cost Z 1,20,000
c¢) Set-up related cost ¥ 2,10,000
d) Relating to handling of orders ¥ 45,000

e) Shipment charges T 50,000
f) Relating to quality inspection ¥ 1,40,000
Cost allocation basis are :
i) No. of Machine hour 22000
ii) No. of Purchase orders 1200
iii) No. of setups 50,000
iv) No. of times materials handled 900
v) No. of times quality inspected 700

vi) No. of shipments 250.
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SECTION - C
Ans ) ~e .
swer any 3 questions. Each qQuestion carries 14 marks 3

. _ " ares. 14=42)

. E € QGG .
7. Explain the process of Performance Management Information System

8. Price structure of a company is given below -

Material

360
Labour 720
Variable Overhead 720
Fixed cost T 50
Profit X 50
Selling price per unit T 200

The above data is based on manutacturin ‘

I\ g of 1,00,000 cycles. Due to stiff
competition, the company wants to reduce the selling price but wants to keep
the same amount of profit, how many cycles the company should sell, to get
the same amount of profit :

a) If selling price is reduced by 10%
b) If selling price is reduced by 20%.

9. A company is expected to have cash in hand on 01-04-2021 and it requires

you to prepare a cash budget for 3 months April to June 2021. The following
information is supplied to you.

Months Sales Purchases Wages Manufacturing Expenses
February 70,000 40,000 8,000 6,000

March 80,000 50,000 8,000 7,000

April 92,000 52,000 9,000 7,000

May 10,000 60,000 10,000 8,000

June 1,20,000 55,000 12,000 9,000

Other information :

1) Period of credit allowed by supplier is 2 months.

2) 25 % of sales is for cash and period of credit allowed to customer for credit
sales is 1 month.

3) Delay in payment of wages and expenses one month.
4) Income Tax of ¥ 25,000 is to be paid in June 2021.
5) Opening balance on 1% April is X 25,000.
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10. The standard cost of a certain chemical mixture Is :
40% Material A at ¥ 400 per ton
60% Material B at ¥ 600 per ton
A Standard loss of 10% is expected in production. Actual cost of material used is :
90 tons of Material A at a cost of T 360 per ton
110 tons of Material B at a cost of ¥ 680 per ton
Actual output is 182 tons

Calculate MCV, MPV, MUV, MMV and MYV.

11. A manufacturing company has the production capacity of 20000 units p.a. The

expenses for production of 10000 (50%) units for a period are furnished below :

Particulars Per unit (%)
Materials 40
Wages 20
Manufacturing expenses (40% fixed) 10
Administration expenses (All fixed) 5
Selling and Distribution expenses (60% fixed) 5
Total cost 80
Profit 20
Selling price 100

Prepare a Flexible budget for 60%,70% and 90% levels of activity. It is expected

that the present unit selling price will remain constant up to 60% activity beyond

which a 5% deduction is contemplated up to 90% activity level.
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VI Semester B.Com. Examination, September/October 2022
(CBCS Scheme)
COMMERCE
Paper — 6.3 : Income Tax - Il

Time : 3 Hours Max. Marks : 70

Instruction : Answers should be written completely in English or
Kannada.

SECTION - A

Answer any five of the following sub-questions. Each sub-question carries
2 marks.
1. a) What do you mean by vocation ?
b) State any 2 incomes which are taxable under the head income from other
sources.
c) How do you compute short term capital gain ?
d) If Mr. Amit has received family pension of Rs. 50,000 from Government of
Rajastan. How do you treat it while calculating taxable income ?
e) Expand : i) TDS and ii) CBDT.
f) What is the maximum limit of amount of deduction u/s 80D ?

g) How do you treat contribution by a businessman to an approved Research
Association or University for research in social science or scientific research ?

SECTION - B
Answer any three questions. Each question carries 6 marks. (3x6=18)

2. From the following information of Meenakshi a Chartered Accountant, compute
taxable income from profession for AY 2021 — 22.

(5%2=10)

Receipts Payments

Rs. Rs.
Consultation fees 75,000 Stipend to article clerks 22,500
Gifts from clients 25,000 Office rent 27,000
Gifts from father in law 25,000 Professional tax paid 2,500
Appellate tribunal appearance 23,500 Purchase of Professional books 13,500
Fees for drafting MOA 12,000 Charitable donation 3,500

3. Sri Vinayaka purchased a residential house in April 2003 for Rs. 2,56,000.
He renovated the property in 2009 — 10 at a cost of Rs. 2,95,000 and the
property was sold for Rs. 40,00,000 in August 2020 (Brokerage 2.5%).
Another residential house was bought in March 2021 for Rs. 5,00,000
brokerage 2%). Compute the Taxable Capital Gains for the AY 2021 - 22.

I 2003 - 04 = 109, 2009 - 10 = 148, 2020 - 21 = 301.
P.T.O.
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4. Discuss the admissibility of following expenses while computing taxabie

business income :
a) Provision for taxation.
) Interest on loan taken for business purpose.

C) Income tax paid.

d) Theft in office premises.

e) Household telephone expenses.
f) Penalty paid to GST authorities.

5. Mr. Dhoni, a resident individual submits the following particulars for the year

ended 31 March 2021.
a) Agricultural income in England Rs. 15,000.
b) Salary as member of Parliament Rs. 1,00,000.

c) Daily allowance as MP Rs. 15,000.
d) Dividend received from a Co-operative society Rs. 5,000.

e) Royalty from a coal mine Rs. 20,000.
f) His residential house has been taken on a rent of Rs. 10,000 p.m. half of

which he has sub-let at 6,000 p.m.

He has incurred the following expenses :
Paid collection charges Rs. 200 for collecting dividends, Rs. 3,000 spent for

earning and collecting royalty.
Compute Mr. Dhoni’s income from other sources for The AY 2021 — 22.

6. Compute Total Income of Mr. Rajguru for the AY 2021 — 22 from the following

information.

Salary income (Computed) Rs. 1,43,920

Income from House property (Computed) Rs. 14,000
Taxable business income Rs. 1,12,500

Capital Gain : LTCG Rs. 75,000 and STCG Rs. 25,000

Income from other sources Rs. 12,975
Ee ,Eaid insurance premium on his own life Rs. 20,000 and he contributed to
P

Rs. 12,500.
SECTION-C

Answer any three questions. Each question carries 14 marks.
7. Mr. Sukhdev, an eminent advocate in Bangalore submits the following information.
Receipts and Payments Account for the year ending 31-3-2021

(3)(1 4:42)

Receipts Amount Payments Amount
Rs. Rs.
To Balance b/d 30,000 By Salary to staff 1,20,000
To Fees from clients : By Interest on loan 4,000
2020 - 21 = 5,77,000 By Office expenses 25,000
16,000

2019-20= 15,000 5,92,000 By Car expenses .
To Presents from clients 12,000 By Purchase of Type Writer 23,000

To Loan from clients 5,000 By Income Tax 16,000
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To Arbitration fees 15,000 By Contribution to PPF 67,000
To Rgmuneratlon from By Purchase of notified
articles 10,000 bonds 95,500

By Balance c/d 2,97,500
6,64,000

-3- 63623

6,64,000
Consider the following other details

a) Car is used for profession only.
b) Depreciation on car is Rs. 12,000 and on Type Writer is 15%.

¢) He bought a computer for Rs. 80,000 on 10" March 2020 and
the same day (Rate of depreciation is 40%). e

Compute Taxable Income from Profession for the Assessment Year 2021 - 22.
8. During the financial year 2020 — 21 Sri Krishna sells the following assets.

Particulars House Gold Shares
Date of acquisition 12-5-85 5-7-2000 12-5-2013
Date of sale 8-3-2021 13-5-2020 18-4-2020
Sale consideration (Rs.) 8,50,000 10,15,000 3,55,000
Cost of acquisition (Rs.) 3,50,000 75,000 65,000
Transfer expenses (Rs.) 10,000 15,000 ~
Fair Market Value on 1-4-2001 Rs. 3,60,000 85,000

Compute the taxable capital gain (Cll - 2001 — 02 = 100, 2013 — 14 = 220,
2020 - 21 = 301)

9. Smt. Saritha has prepared the following P & L A/c for the year ending 31-3-2021.

Particulars Amount Particulars Amount
Rs. Rs.

To Salary paid 1,50,000 By Gross profit 4,45,300

To Advertisement 12,000 By Rent received 1,65,000

To General Expenses 43,500 By Dividend (Indian

To Interest on capital 10,000 company) 25,000

To Fire insurance (10,000 By Lottery (gross) 1,00,000
relates to HP) 30,000 By Interest 1,50,000

To Income tax paid 27,000

To House hold expenses 52,500

To Bad debts 9,000

To Provision for bad debts 11,500
To Provision for Income Tax 50,000

To Repairs to HP 12,000
To Municipal taxes of HP 40,000
To Life Insurance premium 7,000

To Donation to Political party 15,000
To Depreciation (allowable) 24,750
To Net Profit 3,91,050

8,85,300 8,85,300
Saritha owns a house property, of which 25% area is used for own business
purpose. Determine the Taxable Business Income of AY 2021 — 22.
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: jous year 2020 - 21
10. Mr. Jaishankar provides the following information for ”'{” l:‘;"’"’;’? y
Compute His income from other sources for lhu’/\Y /”/, ( ()‘0. |
a) Interest on 7.5% tax freo government securitios Rs. 3,0

11.

b) Director's fees Rs. 1,200

c) Ground rent Rs. 600

d) Interest on PO SB A/c Rs. 4,000

e) Winnings from lotteries Rs. (Net) received Rs. 14,000

f) Remuneration from articles published in a magazine Rs. 8,000

g) Dividend on preference shares of Indian company Rs. 3,200

h) Interest on bank deposits Rs. 2,500

i) Income from undisclosed sources Rs. 10,000

J) Dividend from co-operative society Rs. 4,000 .
k) Income from letting on hire of building and machinery under one composite

lease Rs. 27,000
The following deductions are claimed by him.

1) Collection charges of dividend Rs. 200
2) Allowable depreciation on building and machinery Rs. 4,000

3) Fire insurance on building and machinery Rs. 1,000.
Compute Total Income and tax liability (as per old tax regime) of Mf . Sai (Aged
about 51 years) for the AY 2021 — 22 from the following information.

Income from house property (computed) Rs. 85,000
Taxable business income Rs. 10,12,500

Income from other sources Rs. 32,560
He paid insurance premium on his own life Rs. 20,000, on son’s life 50,000

He contributed to RPF Rs. 42,250

He also contributed to PPF Rs. 75,000
He made Investments in NSC VIl issue Rs. 10,000

Donation made to PM’s NRF Rs. 25,000.
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